UGC NET 2022 SOCIOLOGY

Topic:- 5_PARTA_S2

1)
Rewards and punishments associated with role expectations are called:

1. Nams
2. Values:
3. Sanctions
4, Mores
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[Question ID = 1406][Question Description = 101_71_SCY_SEP22_S2_QO01]
1 [Option ID = 5621]
2 [Option ID = 5622]
3 [Option ID = 5623]
4 [Option ID = 5624]
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2)
Given below are two statements:

Statement |; Correspondence analysis is a statistical method of analysis for cross-tabulated data by
finding a geometrical representation,

Statement Il: Well-known applications of correspondence analysis are presented by Pierre Bourdieu

in Distinction,
In light of the above statements, choose the correct answer from the options given below

1, Both Statement | and Statement |l are true
2, Bath Statement | and Statement || are false
3, Statement | is true but Statement |l is-false
4, Statement | is false but Statement [l is true
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[Question ID = 1407][Question Description = 102_71_SCY_SEP22_S2_QO02]
1. 1 [Option ID = 5625]
2. 2 [Option ID = 5626]
3. 3 [Option ID = 5627]
4. 4 [Option ID = 5628]

3)
Definite procedures or rules which people are expected to observe are known as:

1. Nems
2, Values:
3, Sanctions
4, WMores
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[Question ID = 1408][Question Description = 103_71_SCY_SEP22_S2_Q03]
1. 1 [Option ID = 5629]
2. 2 [Option ID = 5630]
3. 3 [Option ID = 5631]
4. 4 [Option ID = 5632]

4)
Which one of the following influences deviance?

1. Hierarchy
2, Personality
3. Status-

4, Norms
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[Question ID = 1409][Question Description = 104_71_SCY_SEP22_S2_Q04]
1. 1 [Option ID = 5633]
2. 2 [Option ID = 5634]
3. 3 [Option ID = 5635]
4. 4 [Option ID = 5636]

5)
Which were the general land tenure systems prevalent in rural India before independence?

A, Jamindari

B, Sajhiedari

C. Ryotwari

D. Hawaldari

E. Mahelwari

Cheose the correct answer from the options given below:

1.4, Band C only
2.B, Cand D only
3,C, D and E only
4 A Cand Eanly
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[Question ID = 1410][Question Description = 105_71_SCY_SEP22_S2_QO05]
1. 1 [Option ID = 5637]
2. 2 [Option ID = 5638]
3. 3 [Option ID = 5639]
4. 4 [Option ID = 5640]



6)
Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): Sociologists usually distinguish between absolute and relative poverty,
Reason (R): In developed countries, with established welfare systems, absolute poverty is rare.
In the light of the above statemients, thoose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2, Bath (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3, (A) is-correct but (R) is not correct.

4 (A) is not correct but (R) iscorrect.

Il oy UL B : Um ol i@y (A) 3R GO ©f ©RU (R) Bel 9 8
SRBLU (A) GGG 378 aR U2 QU1 377 91u Fie-ar & &g 9% & 8
@R (R) ; [qoraefia ¢l § ®Iitd seaoer) raera| (genfedn) | gof fHd=dr gey g1g @ gl
ST T & HwE 4, Filea Aol # 4 98 I I
1. (A) 3R (R) & 981 & 9IR (R), (A) B Gl AT B 1
2. (A) IR (R) THT FE1 & IR (R), (A) B T LA el &

3. (A) HEI & U (R) He! T8l &
4, (A) HEI 98] & UG (R) HR1 8

[Question ID = 1411][Question Description = 106_71_SCY_SEP22_S2_QO06]
1. 1 [Option ID = 5641]
2. 2 [Option ID = 5642]
3. 3 [Option ID = 5643]
4. 4 [Option ID = 5644]

7)
Match List-1 with List-11

List-1 List-11
(Thinkers) (Work)
A, G.H. Mead |l Structuration

B.E Goffman |Il. Governmentality

C. M. Fourault |lll. Symbolic interactionism

D. A. Giddens |IV. Total institutions

Choase the correct answer fram the options given below:

T.A-IN,B=1,C-1l,D-1l
oA=L B=IV,C= 1, D=
LA-,B-IV,C-ll, B-I
44-1l,B=1,E=-IV,D-



T - @ G -1 W A B ;

CE =T -1l

(aR®) (@)

A . T4 HIS 1. TR

8. 5 MHEA 11, ATETEET (EHHe e
C.TH. @] I1l. Tl T =i Tshamarg
D.T e IV, TS GRITE

i fgu e fasedl # 9 wdl IR g
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[Question ID = 1412][Question Description = 107_71_SCY_SEP22_S2_Q07]
1. 1 [Option ID = 5645]
2. 2 [Option ID = 5646]
3. 3 [Option ID = 5647]
4. 4 [Option ID = 5648]

8)
The book, "Patterns of Culture” is written by:

1. B. Anderson

2. Evans-Pritchard
3. R. Benedict

4, B. Malinowski
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[Question ID = 1413][Question Description = 108_71_SCY_SEP22_S2_QO08]
1. 1 [Option ID = 5649]
2. 2 [Option ID = 5650]
3. 3 [Option ID = 5651]
4. 4 [Option ID = 5652]

9)
A biological being is transformed into a social being with the help of the following:

1, Socialisation

2, Institutionalisation
3, Structuration

4, Alienation
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[Question ID = 1414][Question Description = 109_71_SCY_SEP22_S2_QO09]
1. 1 [Option ID = 5653]
2. 2 [Option ID = 5654]
3. 3 [Option ID = 5655]
4. 4 [Option ID = 5656]

10)
Match List-1 with List-1:
List-1 List-11
(Tribe) (Dormitories)
A Gonds I. Kichuki
B. Qraon 1. Dhumkuria
C. Bhutia 11l. Gotul
D. Angami Naga V. Rangbang

Choase the correct answer fram the options given belew:

TA-ILB=-ILC=1,B-IV
ZA-NLB-ILC=IV,B=]
BA-LB-IV,C-1, D=1
4A-LB-1,C=1ILD-1IV
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TA-IL,B=-I1,C-1,D-IV
ZA-I,B-1I, €=V, B~
A=, BV, C-1,D-1
4A-1,B=-ll,C=1N,D-IV

[Question ID = 1415][Question Description = 110_71_SCY_SEP22_S2_Q10]
1. 1 [Option ID = 5657]
2. 2 [Option ID = 5658]
3. 3 [Option ID = 5659]
4. 4 [Option ID = 5660]



11)
Caste-based stratification is:

1. Open

2, Achieved

3, Ascribed

4, All of the above
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[Question ID = 1416][Question Description = 111_71_SCY_SEP22_S2_Q11]
1. 1 [Option ID = 5661]
2. 2 [Option ID = 5662]
3. 3 [Option ID = 5663]
4. 4 [Option ID = 5664]

12)
Match List-1 with List-1l
List-1 List-11
(Books) (Authors)
A, World Risk Society I. M. Castells
B. End of Millennium 11V, Shiva
C. Development as Freedom |1l A. Sen
D. Ecofeminism V. L. Beck

Choase the correct answer fram the options given belew:

T.A-INB=1,C-I, D -l
ZA-L,B-II,E-IV, B~
A=, BV E =1 D=1l
4A-L,B-11,CE=-11,D-IV
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[Question ID = 1417][Question Description = 112_71_SCY_SEP22_S2_Q12]
1. 1 [Option ID = 5665]
2. 2 [Option ID = 5666]
3. 3 [Option ID = 5667]
4. 4 [Option ID = 5668]

13)
Given below are two statements, one is labelled as Assertion (A) and the other is'labelled as Reason (R)

Assertion (A): N.K Bose emphasised the need ta bring ethnology and Indology together in the study of
Indian Society,

Reason (R): It is possible to reconstruct the structure of the Indian Constitution through these two
approaches,

In the light of the above statements, choose the correct answer from the options given below ;

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2, Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
3, (A) is true but (R) is false

4 (A) is false but (R) is true
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[Question ID = 1418][Question Description = 113_71_SCY_SEP22_S2_Q13]
1. 1 [Option ID = 5669]
2. 2 [Option ID = 5670]



3. 3 [Option ID = 5671]
4. 4 [Option ID = 5672]

14)
Which of the following constitute(s) an impertant methodelogical component(s) in Foucault's works?

A, Discipline and Punish

B. The History of Sexuality

C. Madness and Civilisation

D. The Archaeology of Knowledge

E. The Order of Things'

Choose the correct answer from the options given below;

1.A and B enly

2, D only

3.C, D and Eonly
4, Dand Eonly
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[Question ID = 1419][Question Description = 114_71_SCY_SEP22_S2_Q14]
1. 1 [Option ID = 5673]
2. 2 [Option ID = 5674]
3. 3 [Option ID = 5675]
4. 4 [Option ID = 5676]



15)
Given below are two statements:

Statement I: A major problem for empirical researchers is the connection between theory and

chiservation referred to as rules of correspondence.

Statement Il: In Sociology, the passage from cbservation to conceptualisation and back again requires a
clase examination of the manner in which our observations are organised and categorised, as'well as, to
the operationalisation of the concepts used to organise data.

In the light of the above statements, choose the most appropriate answer from the options given below

1, Both Statement | and Statemenit || are correct

2, Both Statement | and Statement |l are incorrect

3, Statement | is correct but Statement | is incorrect
4, Statement | is incorrect but Statement |l is correct
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[Question ID = 1420][Question Description = 115_71_SCY_SEP22_S2_Q15]
1. 1 [Option ID = 5677]
2. 2 [Option ID = 5678]
3. 3 [Option ID = 5679]
4. 4 [Option ID = 5680]

o Match List-1 with List-1l
List-1 List-1I
A. A person enumerated outside the place of normal residence I. Migrant
B. Spousss and children joining the migrant in due course II. Ferced migration
. Persons displaced by war or violence ll. Seasenal migration
D. Persons seeking work each year for a shert time in a place other than their|lV. Associative
riermal residence migration

Choose the correct answer from the options given below:

T.A-LBE-IV,C-ILB-
ZA-LB-MC-IV,D-Il
3LA-LB-IL,C-D-
AA-LB-1LE-N, B-1
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[Question ID = 1421][Question Description = 116_71_SCY_SEP22_S2_Q16]
1. 1 [Option ID = 5681]
2. 2 [Option ID = 5682]
3. 3 [Option ID = 5683]
4. 4 [Option ID = 5684]

17)
The academic journal published by Indian Sociclogical Society:

A. Man in India

B. Sociolegical Bulletin

C. Contributions te Indian Sociclogy

D. International Scciclegy

E. Annals of Indian Seciology

Choose the correct answer from the options given below,

.B, C and E only
.B and Conly
. B only

W o -

.B, C, Dand E aonly
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[Question ID = 1422][Question Description = 117_71_SCY_SEP22_S2_Q17]
1. 1 [Option ID = 5685]
2. 2 [Option ID = 5686]
3. 3 [Option ID = 5687]
4. 4 [Option ID = 5688]

18)
"The generalised elsewhere” has been given by:

1. G. H. Mead

2, Alex Inkeles

3, T. B. Bottomaore
4, Joshua Meyrowitz
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[Question ID = 1423][Question Description = 118_71_SCY_SEP22_S2_Q18]
1. 1 [Option ID = 5689]
2. 2 [Option ID = 5690]
3. 3 [Option ID = 5691]
4. 4 [Option ID = 5692]

19)
An ltalian consuming paneertikka in Rome and an Indian consuming pizza in Varanasi is an example oft

1. Glabalisation of food

2. Glabalisation of commuodities
3, Globalisation of culture

4, All of the above
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[Question ID = 1424][Question Description = 119_71_SCY_SEP22_S2_Q19]
1. 1 [Option ID = 5693]
2. 2 [Option ID = 5694]
3. 3 [Option ID = 5695]
4. 4 [Option ID = 5696]

20)
A structure of relationships linking social actors, or the set of actors and the ties among them;

1. Social organisation
2. Social network

3. Social development
4, Social institution
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[Question ID = 1425][Question Description = 120_71_SCY_SEP22_S2_Q20]
1. 1 [Option ID = 5697]
2. 2 [Option ID = 5698]
3. 3 [Option ID = 5699]
4. 4 [Option ID = 5700]

21)

Whio wrote the book, 'Caste and Race in India’ |

1.A. R, Desai

2.G.S. Ghurye

3, Louis Dumont

4 None ef the above
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[Question ID = 1426][Question Description = 121_71_SCY_SEP22_S2_Q21]
1. 1 [Option ID = 5701]
2. 2 [Option ID = 5702]
3. 3 [Option ID = 5703]



4. 4 [Option ID = 5704]

22)
Production characterised by large number of standardised products made by highly specialised workers is

known as

1. Factory production

2. Capitalistic production
3. Mass production

4, All of the above
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[Question ID = 1427][Question Description = 122_71_SCY_SEP22_S2_Q22]
1. 1 [Option ID = 5705]
2. 2 [Option ID = 5706]
3. 3 [Option ID = 5707]
4. 4 [Option ID = 5708]

23)
Match List-1 with List-1l
List-1 List-ll
(Thinkers) (Concept/Theory)
A, Georg Simmel |. Network Society
B. Louis Wirth IIl. Metrepolis and Mental life
C. Manuel Castells I, Gesellschaft
D. Ferdinand Tannies |V, Urbanism as a way of life

Choese the correct answer from the options given belaw:

T.A-ILB=MC-LB=
ZA-ILB-IV, C-ll, D=1
LA-IVB-HILC-LD-1
4A-ILB-MC-IL D=
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[Question ID = 1428][Question Description = 123_71_SCY_SEP22_S2_Q23]
1. 1 [Option ID = 5709]
2. 2 [Option ID = 5710]
3. 3 [Option ID = 5711]
4. 4 [Option ID = 5712]

24)
The cancept of "conspicuous consumption” denotes;

A, Fetishism of commodities.

B. People want to show that they are simple-living.

C. People want to show others what they are consuming.
D. People have access to commaodities.

E. Tragedy of Culture,

Choose the correct answer from the options given below;

1.A and B only
2.B anly
3. Conly
4,Dand Eonly
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[Question ID = 1429][Question Description = 124_71_SCY_SEP22_S2_Q24]
1. 1 [Option ID = 5713]
2. 2 [Option ID = 5714]
3. 3 [Option ID = 5715]
4. 4 [Option ID = 5716]

25)
The durable relations-between a food-producing family and the families that supply them with goods and
services are known as-

1. Service caste- higher caste relations
2, Producer-supplier relations

3. Caste relations

4, Jajmani relations
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[Question ID = 1430][Question Description = 125_71_SCY_SEP22_S2_Q25]
1. 1 [Option ID = 5717]
2. 2 [Option ID = 5718]
3. 3 [Option ID = 5719]
4. 4 [Option ID = 5720]



26)
The main features of class are

A. Homogeneity and Simplicity

B. Individualism

C. Economic and professional values

D. Rationalism

E. Traditionalism

Choose the correct answer from the options given below,

1.A and E-only
2.B, Cand D only
3.B, C and E only
4, B and D only

o &1 51 faar

A, THET! AR TTE

B. SOfGIdIG

C, HiiYw R AEuhe g9

D. S

E, TREETE

e e e fasedl 5 § 981 SR 9 ;

1. $aT A ARE
2, ®aAE, C 3R D
3, FHaE B, CARE
4, FHaA B AR D

[Question ID = 1431][Question Description = 126_71_SCY_SEP22_S2_Q26]
1. 1 [Option ID = 5721]
2. 2 [Option ID = 5722]
3. 3 [Option ID = 5723]
4. 4 [Option ID = 5724]



27)
The features of "Kula Ring’, described by Malinowski are;

A, Itis-an exchange cycle

B. It had no monetary value

C. It was seen as an exchange of gifts

D. It provided internal status to men

E, It did not weld together, a large number of islands
Choose the correct answer from the options given below,

1.4, B, D and E only
2.A, C DandE only
3.A B Cand Donly
4 B, C, DandE only
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1. 590 A, B, D, E
2. $aAAC D, E
3, FEEA, B, C, D
4,%aEB,C, D, E

[Question ID = 1432][Question Description = 127_71_SCY_SEP22_S2_Q27]
1. 1 [Option ID = 5725]
2. 2 [Option ID = 5726]
3. 3 [Option ID = 5727]
4. 4 [Option ID = 5728]



28)
According to Louis Wirth, the following variables are important in making urban life impersonal:

A, Location

B, Affluence

C, Size

D. Density

E, Heterogeneity

Choose the correct answer from the options given below,

1.4, Band Conly
2.B, Cand D only
3.C, Dand Eonly
4 A CandEanly
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[Question ID = 1433][Question Description = 128_71_SCY_SEP22_S2_Q28]
1. 1 [Option ID = 5729]
2. 2 [Option ID = 5730]
3. 3 [Option ID = 5731]
4. 4 [Option ID = 5732]

29)
The unit of production in tribal economy is

1. Clan

2, Village

3, Family

4 None ef the above



S AR H IAe B e & -

1.7

2,74

3, 9Er

4 IR G P T8l

[Question ID = 1434][Question Description = 129_71_SCY_SEP22_S2_Q29]
1. 1 [Option ID = 5733]
2. 2 [Option ID = 5734]
3. 3 [Option ID = 5735]
4. 4 [Option ID = 5736]

30)
People under the class structure who are economically, politically and socially marginalised and excluded

comprise the

1. Economic class

2, Oppressed class

3, Underclass

4, None ef the above

Tl - T & SAarig 08 an & e, TeHifae Y ameie &0 O IYEReE AR ded ©, (8 & @
TR E

1. 3Md&E g1
2 gt
3, ¥ETEmE

4, ST H A PIE T

[Question ID = 1435][Question Description = 130_71_SCY_SEP22_S2_Q30]
1. 1 [Option ID = 5737]
2. 2 [Option ID = 5738]
3. 3 [Option ID = 5739]
4. 4 [Option ID = 5740]



31)

A. Quantitative research is any research method that inviolves the analysis of numerical data derived

usually from surveys and experiments,

B. Qualitative research is any research methed that involves the analysis of numerical data derived usually

from surveys and experiments.

C. Inferential statistics does not allow researchers to use data from a relatively small group to speculate

with some level of certainty about a larger group.

D. Quantitative research methods do not require statistical methods for collecting and reporting data.
E, Statistics is the mathematical method used to analyze numerical data.

Choose the correct answer from the options given below,

1.4, B, Cand Donly
2. A anly

3.B, Cand D only

4, A and Eonly

A, gfeEmoTED WY U 9y ufaly 8 g T 9aan i) w9 Ui 9 ey ies] & aeeu
i gl

B. TS Y UG g Ulaf § S aeg: gdein SR wERl 4w 3 sl sies! & faRes
BUlIERE

C. AJHHTAD HilID] QB B TP gewk HH @ ai H T8 Hibad $ 6y SIHH B & 0
OIS ©U T Bl THE Y Al s UHa B @] A Tal HaH dial ol

D. UREES Y YAl § e tiHd B3 N 9P| (191127 & 100 GilI®iy Uiald &1 S&vaddl el el

£, Hifeae! giferd simsl & [ageiyT od W9 &) & arg] T a7 2
i fgu e fapedi 3§ 4 9l I 9

1.$aA A, B, C3RD
2, FEAA

3, &HAE B, C AR D
4, FHaAAARE

[Question ID = 1436][Question Description = 131_71_SCY_SEP22_S2_Q31]
1. 1 [Option ID = 5741]
2. 2 [Option ID = 5742]
3. 3 [Option ID = 5743]
4. 4 [Option ID = 5744]



32)
Match List-1 with List-11

List-1 List-11
s of Religious
(Type 5 sy 9 (Definition)
Organisation)
& s I, & small, new and exclusive group whose religious tradition has never been
. S8
associated with and is often at odds with any established religious experience.
B Church Il A religious group that exhibits a general spirit of tolerance and acceptance
+Churc
of other religious bodies.
& il Ill. & large group of religiously ariented people that members are usually born
. Cu

into rather than consciously join.

D. Denomination

V. A small group of people who see themselves as true believers and who
woluntarily join a group, usually broken off from a more established religion to

have a personal religious experience,

Choose the correct answer

T:A=LB=1LE= L B-=1

fream the options given below:

W

ZA-ILB=IV, C-ll, 2=

LA-VMB-IILC-1,D-

4A-INB-ILC-IIL D~

i - DI gl -1 | GHiad Do ;

T - T -1l

%;Imgm S afamn

. | U T, a7 i} fafe wag foge! aids uiuy fed!
A, ST (899) oo e i @ 90 4 ) e T 3

o I1. T TS g & 3 uiffe Fedl @ ui S
i IR S 3 W yie el e e

i I11, Ui = @t o1 WE o ves Ui I
) e S oY s o o

D. T
(ERlEEEE

Iv. U5 T @1 S G W e UG 3T &
&1 o U oftE wIfta o &1 = JeHaen

T © 9IR 369 e 8¢ W9 ° W1 § i 8|
&

I fqu e fasedl H 9 9el IR g

T.A-LB-1,

E= |l B I

ZA-ILB-IM, C-l, 2=
SA-IVB-ILC-1L, D=1
4AA-IVB=-ILC-L D=

[Question ID = 1

437][Question Description = 132_71_SCY_SEP22_S2_Q32]

1. 1 [Option ID = 5745]
2. 2 [Option ID = 5746]
3. 3 [Option ID = 5747]
4. 4 [Option ID = 5748]



33)
"Cultural identities-are shaped by a complex set of faciors, which are assccisted with the process of

evolution of cultural practices and beliefs of a people in course of their historical experiences.” Who

stated this?

1.T. K. Qommen

2, Yogendra Singh
3.E B. Tylor

4, None ef the above

“Tpa® A & HER T 90 ool ® 99=d 4 901 & &1 arll & Udglivs A4al & gRH
I Uipiae ydoH! ud four! O Sefaer @ uiedr § deftd g1 -« g faa duA & 2

1.9.3. 38

2. Trfg g
3.3 & TmE

4, IR H Y Bls T81

[Question ID = 1438][Question Description = 133_71_SCY_SEP22_S2_Q33]
1. 1 [Option ID = 5749]
2. 2 [Option ID = 5750]
3. 3 [Option ID = 5751]
4. 4 [Option ID = 5752]

34)
is an approach originally developed by Derothy Smith [1978) te better understand women's

everyday experiences by discovering the power relations that shape those experiences,

1, Case study

2, Content analysis

3. Institutional ethnography

4, Participatory Action Research

__ SRf Ry (1978) R 99 T 4 fGaitd cvwiv foge st afgaet & &5 smdl 4 S 5
SRHR G9¢ Hal &l sead o1 4 9 6l

1. 30Taa® g
2, faug - oy faemm
3, IRFTT Tollta oA
4, G & =Y

[Question ID = 1439][Question Description = 134_71_SCY_SEP22_S2_Q34]
1. 1 [Option ID = 5753]
2. 2 [Option ID = 5754]
3. 3 [Option ID = 5755]
4. 4 [Option ID = 5756]



35)
is the channelling of an increasing number of women intg low-status, poorly paid manual work.

. Feminisation of poverty
. Female proletarianization
. Feminisation of labor

da W -

.None ef the above

_ Tfecnsi ) 94l 9B S g Ui 9, o9 nikahe IRie $H 1 IR 9E gl

1. TRId1 & Tl
2, W Fge @I

3, 97 B WIa@H

4 IR H PR T8

[Question ID = 1440][Question Description = 135_71_SCY_SEP22_S2_Q35]
1. 1 [Option ID = 5757]
2. 2 [Option ID = 5758]
3. 3 [Option ID = 5759]
4. 4 [Option ID = 5760]

36)
is a set of socially constructed ideas that accommodate the interests of men and patriarchy

and involve the compliance of females.

1. Hegemenic masculinity
2, Emphasized femineity
3, Both of the above

4 None ef the above

___ g wy § A RErt @ 9w § o geuf ok Uagw & feal o a9aifoe o g ok 5ud
Tfgansf &1 ues Wihd gl

1, ST TF9E
2, THhEES BiHHer
3, ITEd ol

4 IREH Y BR Ta)

[Question ID = 1441][Question Description = 136_71_SCY_SEP22_S2_Q36]
1. 1 [Option ID = 5761]
2. 2 [Option ID = 5762]
3. 3 [Option ID = 5763]
4. 4 [Option ID = 5764]

37)
Which one of the following is NOT correct?

1. Status - Sogial position

2. Role - Behavioural expeciations
3. Socialisation - Process of learning
4, Values- Specific guidelines



fFafoied 3 6 o o 56l 60 2

1. DT - oo e

2. Ao - HFERTIA SU&TY

3. GHTSI® Y - HRa- @ Jisa
4,74 - fardp fean - Few

[Question ID = 1442][Question Description = 137_71_SCY_SEP22_S2_Q37]
1. 1 [Option ID = 5765]
2. 2 [Option ID = 5766]
3. 3 [Option ID = 5767]
4. 4 [Option ID = 5768]

38)
Given below are twa statements, one is labelled as Assertion (A) and the other is'labelled as Reason (R)

Assertion (A) : Discrimination is 8 mede of behaviour,

Reason (R) : To discriminate means to deny an individual or a group, a privilege or an opportunity or a

pleasure that is thereupon reserved for one’'s ewn group:
In the light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Bath (A) and (R) are true but (R) is NOT the correct explanation of (A)
3. (A) is true but [R) is false

4 (A) is false but (R) is true

T T RUTE: TP 31 MUY (4) 3R G $ HRUI (R) Tl M &l
HHFGU (A) : HEHTE HdeR @1 0B audl ol

BRI (R) : HeHTq B ol iU fodl ogad a1 948 @ 9 Giawl 47 S[aT 91 9@ e o § 511 diel &
il [l & 30 THE & oY ARIEd 8l
JUa DYHA| o HID o FHid ladbed H 4 Fel 3Tk 9 ;

1.(4) 3R (R) G HE1 & 3R (R), (A) 1 68 TR 21

2. (A) 3R (R) ST F61 & U3 (R), (A) D e oI el &

3, (A) ¥EI € U3 (R) B8 981 81
4.(A) T 981 8 U3 (R) T8 B

[Question ID = 1443][Question Description = 138_71_SCY_SEP22_S2_Q38]
1. 1 [Option ID = 5769]
2. 2 [Option ID = 5770]
3. 3 [Option ID = 5771]
4. 4 [Option ID = 5772]

39)
Who has suggested six dimensions of communalism: assimilationist, welfarist, retreatist retaliatory,

separatist, and secessionist:

1. Yogendra Singh
2, A R, Dessai

3. T. K. Oommen
4 G.S. Ghurye



T 4 e TS ® 6 Al ATEHvER], Sedvehar], THHAaR), ideRag], usarars
IR fqayamEme & R ° g gl &

1,315 Rig
2.0 IR, SR
3. 8% 3
4 g gd

[Question ID = 1444][Question Description = 139_71_SCY_SEP22_S2_Q39]
1. 1 [Option ID = 5773]
2. 2 [Option ID = 5774]
3. 3 [Option ID = 5775]
4. 4 [Option ID = 5776]

40)
What is the appropriate term to describe a woman marrying the brother of her deceased husband?

1. Sororate

2. Levirate

3, Amitate

4 Avunculate

o U Aigel fodid Uid & YIS | fdare &l 8, 34U 01T 394ad et BH-91 6 ?

1. 9rell [9die

2. 5a¥ PR (fqamE)
3. 4of sfffie (f9a18)
4, A1g0 faaTe

[Question ID = 1445][Question Description = 140_71_SCY_SEP22_S2_Q40]
1. 1 [Option ID = 5777]
2. 2 [Option ID = 5778]
3. 3 [Option ID = 5779]
4. 4 [Option ID = 5780]

41)
There are two levels of meanings which are implicit in Sanskritization. These are:

1. Historical specific and contextual specific
2. Contextual sperific and culture specific
3. Historical specific and culture specific

4, None of the above

Tofaow e Fal TR daHed el 46 -

1. ooy fafy o sig fafde
2. Tl faf ol vl fafaw
3. gfoem™ fofw #iR ¥l fafae
4 JWEd 5 § 35 T8l

[Question ID = 1446][Question Description = 141_71_SCY_SEP22_S2_Q41]
1. 1 [Option ID = 5781]
2. 2 [Option ID = 5782]



3. 3 [Option ID = 5783]
4. 4 [Option ID = 5784]

42)
Given below are twa statements, one is labelled as Assertion (A) and the other is'labelled as Reason (R)

Assertion (A) : Prejudice is one thing, Discrimination is scmething else.
Reason (R) : Prejudice is a matter of belief. Discrimination is a mode of behaviour,
In light of the above statements, thoose the correct answer from the options given below;

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
3. (A) is true but (R) is false

4 (A) is false but (R) is true

J el @y QU 8 P @ HiEYA (A) N g8 & DRYI (R) B M sl
HTHHEY (A) : YaITE UF 919 8, UGHE B9 SN &
BRI (R) ; T81T5 (G419 &1 1999 1 [9HSoH01 I8N 31 U alidl 8
I YAl P e o Fifed Fead § 3 ugl g I
1.(A) 3R (R) T WE1 & 3R (R), (A) 1 G5l AT
2, (A) 3R (R) TFI 61 & TR (R), (A) Pl Ul o010 6 &

3. (A) TE1 § U (R) Wl ToI B
4, (A) el 7161 € T (R) eI B

[Question ID = 1447][Question Description = 142_71_SCY_SEP22_S2_Q42]
1. 1 [Option ID = 5785]
2. 2 [Option ID = 5786]
3. 3 [Option ID = 5787]
4. 4 [Option ID = 5788]

43)
Cultural phenomena combining inputs and impositions from ether cultures with lecal realities is-

1. Ethnocentrism

2, Cultural imperialism
3. Cultural hybrids

4, Cultural relativism

RTHI dRdlamare a1 Hpiagl 9 HFTal AR AR $1 GFfd S-ar) 9eios giRgeT
g

1. W9 - diga®

2. giplde gHEegarg

3, giepfas 4o (g@ies)

4, giEplos wueaaG

[Question ID = 1448][Question Description = 143_71_SCY_SEP22_S2_Q43]
1. 1 [Option ID = 5789]
2. 2 [Option ID = 5790]
3. 3 [Option ID = 5791]



4. 4 [Option ID = 5792]

44)
The middle attribute in the ranked distribution of observed attributes is known as:

1. Mean
2. Mode
3. Standard deviation
4 None of the above

Tifée 7ot & Avfiag seal § Auad - 0 & 58 ©U F o Sl @

1, AT

2 9g0d

3, 7% [gga

4, IG5 B3 T8l
[Question ID = 1449][Question Description = 144_71_SCY_SEP22_S2_Q44]
1. 1 [Option ID = 5793]
2. 2 [Option ID = 5794]

3. 3 [Option ID = 5795]
4. 4 [Option ID = 5796]

45)
Examples of nominal measures are;

A, Gender

B. Religious affiliation

C. Birth place

D. Social classes

E. Intellectual sophistication

Choose the correct answer fram the options given below;

1.D and E only

2.A Band Conly
3.B, Cand D only
4. A BandDonly



T1feya Jo & SoERU E
PR

B, e Haya

C. & ®F

D. HrTfers a7

E. SI&® givspa

4 feu 7e fasedl  § |81 Gk 9 ;

1.$aE D AR E

2. FaAABHRC
3, FHaA B, C AR D
4 FEAABARD

[Question ID = 1450][Question Description = 145_71_SCY_SEP22_S2_Q45]
1. 1 [Option ID = 5797]
2. 2 [Option ID = 5798]
3. 3 [Option ID = 5799]
4. 4 [Option ID = 5800]

46)
Whio among the following used 'Comparative and Histarical Research Method' in their study?

1. Auguste Comtie
2, Karl Marx

3. Lewis Morgan
4, All of the above

7 ¥ forgd ome v o gaee R dasiiie oy uiefy @ gwam feare ¢

1, HITeE @EC
2, I HE

3, dfgg ar
4, Iqad g4

[Question ID = 1451][Question Description = 146_71_SCY_SEP22_S2_Q46]
1. 1 [Option ID = 5801]
2. 2 [Option ID = 5802]
3. 3 [Option ID = 5803]
4. 4 [Option ID = 5804]

47)
The disharmony between the rapid growth of technology and slower transformation of secial institutions
and beliefs'is known as

. Technological |ag
. Communicational lag
. Cultural lag

B S o R o B

Infarmational lag



TET] @1 g Hdfa ud amem Swis SR Ayl & a9 e 91 S & ey by 9
H S Sl & 2

1, @G &aeT
2, FUNUTES [Gaa
3. gieplam fade
4, GEAIED [aeisT

[Question ID = 1452][Question Description = 147_71_SCY_SEP22_S2_Q47]
1. 1 [Option ID = 5805]
2. 2 [Option ID = 5806]
3. 3 [Option ID = 5807]
4. 4 [Option ID = 5808]

48)
Who amoeng the following criticised the effects of "mass media™ and "culture industry” on population?

1. Ulrich Beck

2, Alfred Schutz

3, Theodor Adorno
4, Ernest Burgess

Fpfofag o ¥ g- 999 @ ' oAEeR e (@9 A SR Ol S & nuEl @1 SdreE &1
87

1. JuRa §F

2, ¥Ehs I
3. fsisR wsHl
4 e F

[Question ID = 1453][Question Description = 148_71_SCY_SEP22_S2_Q48]
1. 1 [Option ID = 5809]
2. 2 [Option ID = 5810]
3. 3 [Option ID = 5811]
4. 4 [Option ID = 5812]

49)
In his famous work on the changing stratification of a Tanjore village, Andre Beteille observed the

changes in-

1. Caste system

2, Class system

3. Power system

4, All of the above

ToR TTd & gGad W@ W AU UiE Td | 3 o 5  ufvgd sEaiieg fad-

1. ST g
2, 7 e

3, T1fe oaa=
4, IR Gt

[Question ID = 1454][Question Description = 149_71_SCY_SEP22_S2_Q49]



1 [Option ID = 5813]
2 [Option ID = 5814]
3 [Option ID = 5815]
4 [Option ID = 5816]

A wnN =

50)
Given below are two statements

Statement I: Some of the developing countries have embarked successfully on a process of rapid

industrialization.
Statement II: They are referred to as the Newly Industrializing Countries.
In light of the above statements, cthoose the most appropriate ariswer from the options given below

. Both Statement | and Statement |l are correct
. Both Statement | and Statement |l are incorrect
. Statement | is correct but Statement I is incorrect

5 WM =

. Statement | is incorrect but Statement || is correct

JacimE R E:
BYF - | : DS [Goraie o2l 7 a9 7T U AGMSIeu 3] Hishd] Uhedgds JRH H Gl 8l

DY - 1| ; I& A4 A BB o o2 Fel Sl 6l
JUa BYA| P HID H FHElead [aded] H H el 30 9 -

1.4 | 3R | GH el gl
2. %Y | 3R 11 GF T 6|
3. @Y | Hel &, b Y 1| a6
4, YA | TTTd &, [ BYH 11 981 B

[Question ID = 1455][Question Description = 150_71_SCY_SEP22_S2_Q50]
1. 1 [Option ID = 5817]
2. 2 [Option ID = 5818]
3. 3 [Option ID = 5819]
4. 4 [Option ID = 5820]

51)
Which of the following is NOT a defining feature of tribe?

1. Foed habits

2, Commion territory
3, Kinship ties

4, One language

fgfaiag & 8 ©F Sad @ 9eyad S 9l (a9 el & -
2. 9 8
3, FaR] 94T
4, T HE]

[Question ID = 1456][Question Description = 151_71_SCY_SEP22_S2_Q51]
1. 1 [Option ID = 5821]
2. 2 [Option ID = 5822]



3. 3 [Option ID = 5823]
4. 4 [Option ID = 5824]

52)
The structural features of caste system are:

A, Openness

B. Segmental division

C. Hierarchy

D. Nen-hereditary occupations

E. Pollution and Purity

Choose the correct answer from the options given below;

A, Band E enly
.B, D and E only
.B, Cand E only
.C, Dand E anly

5 LD -

SiTTe W1 1 SRE-NT [a9ean & ;

A, G

B, @USTHF [GHEH

C. 9ar®H

D. 7R - H{aI® Hau™

E. UGH 31X gfaaar

i fow e fawedl & & W6l IR 9 ;

1.Fa0A B ANE
2, ®aT B, D3RE
3, ®adE, CHRE
4,FHaEC, DARE

[Question ID = 1457][Question Description = 152_71_SCY_SEP22_S2_Q52]
1. 1 [Option ID = 5825]
2. 2 [Option ID = 5826]
3. 3 [Option ID = 5827]
4. 4 [Option ID = 5828]

53)
"Conurbation™ means:

1. A duster of cities and towns forming a continueus network
2, A confluence of different cultures-

3. A process by which identities are formed

4 None of the above



"FUTRIG 98T @1 SmE § ;

1. UM Jea die R| 31X el & T
2 [t dwsfogf @ o

3, U@ Uiyl foee §RT 9gdH &4l &

4, IUIET H | BT To

[Question ID = 1458][Question Description = 153_71_SCY_SEP22_S2_Q53]
1. 1 [Option ID = 5829]
2. 2 [Option ID = 5830]
3. 3 [Option ID = 5831]
4. 4 [Option ID = 5832]

54)
The most systematic general theory of cultural reproduction is given by-

1. Karl Mannheim
2, Pierre Bourdigu
3. Auguste Comte
4, Durkheim

gl TTodies ® Faliis godared S e fea s -

1. BT H819
2 v Eieg

3, T R
4. 3@

[Question ID = 1459][Question Description = 154_71_SCY_SEP22_S2_Q54]
1. 1 [Option ID = 5833]
2. 2 [Option ID = 5834]
3. 3 [Option ID = 5835]
4. 4 [Option ID = 5836]

55)
Match List-1 with List-ll
List-1 List-11
(Personalities) (Recognition)
A, Pandurang Hegde |. Goldman Environmental Prize
B. M. C. Mehta I, Bishnoi Movement
C. Marimuthu Yeganathan Ill. Appiko Movement
D. Amrita Devi IV, Eco-warriar

Choase the correct answer from the options given below:

T-A-ILB-LC-IV, D=1
2A-WW,B-LLC-1,B=N
JA-MB=-ILC-L D=
4A8-LB-IV,C-1, D=1




T - @ G -1 W A B ;

CE T -l

(GUESES) (A=)

A TSRS 1. TTieSH GYiaRuiiy GRReR
8. T, Tgar i1, Fa4s Sae

C. ARy Iy 111, TRl Sffeie

0. S &l IV, TGTERT - Tigt

frd feu o fomedt € € O smgHn:

T.A-ILE-LE-IV,D-1
ZA-IV,B=-LC-I,E=M
BA-IVB-ILC-L D=
4 A-ILB-IV,C-1,D-1l

[Question ID = 1460][Question Description = 155_71_SCY_SEP22_S2_Q55]
1. 1 [Option ID = 5837]
2. 2 [Option ID = 5838]
3. 3 [Option ID = 5839]
4. 4 [Option ID = 5840]

56)
Who is known as the "bourgeois Marx"?

1. Emile Durkheim
2. Max Weber

3. Talcott Parsons
4, Geerg Simmel

T IR & =0 4 PSS S g

1. THT3E gEiH
2 Hagas
4, 5 fgEd

[Question ID = 1461][Question Description = 156_71_SCY_SEP22_S2_Q56]
1. 1 [Option ID = 5841]
2. 2 [Option ID = 5842]
3. 3 [Option ID = 5843]
4. 4 [Option ID = 5844]



57)
Match List-1 with List-11

List-1 List-1l

(Thinkers) (Concepts)

A, Alfred Schutz |. Stigma

B. Erying Goffman 1. Field

C. lirgen Habermas 1ll. Recipe

0. Pierre Bourdizu V. Communicative Action

Choase the correct answer from the options given belaw:

T.A-LBE-NLE-I,D- IV
2ZA-MB-LC-NLD-1
LA-NLE-LE-IV,D-1
4A-ILB-MC-Il,B-|

il -1 @l ! -1l H AT By ;

i -l CElE]

A, 4FFS IEd |, @A (=)

B, fdT AMHET 1. &7 (Thes)

C. 9 gee 111, S (<)

D. fUaeEiity V. SUNUTES [l (@ Hdicd )

fd U e famedl H ¥ 98 S g

T.A-LB-ILE-I,D-1V
2ZA-IMB-LC-1L,D-1
BA-ILB-LC-IV,D-I
4A-ILB-M,C-ILB=|

[Question ID = 1462][Question Description = 157_71_SCY_SEP22_S2_Q57]
1. 1 [Option ID = 5845]
2. 2 [Option ID = 5846]
3. 3 [Option ID = 5847]
4. 4 [Option ID = 5848]

58)
The concept of "habitus” deals with

. Social status of the individuals
. Psychological orientations of the individuals
. Behavioural dispositions of the individuals

5 WM =

. Economic situatien of the individuals



e Bt srEyRoT 35U GefiE & -
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2. Ffeadl & FHgTH® AufaaE o

3, Aiad © gaeiN® ugid 9
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[Question ID = 1463][Question Description = 158_71_SCY_SEP22_S2_Q58]
1. 1 [Option ID = 5849]
2. 2 [Option ID = 5850]
3. 3 [Option ID = 5851]
4. 4 [Option ID = 5852]

59)
was first developed by sociclogists, B. Glaser and A, Strauss (1967), in an attempt to come to

grips with their clinical research in medical sociology

1. Conflict Theory

2, Structural functionalist Theory
3. Functionalist Theory

4, Grounded Theaory

TATHT TS o). TR AR T 1" (1967) 2 it Taaard J Aaie 9y ® 99eH @
TATY & SR (G 8 far TR o

1, U REig

2, TSGR - UEEee] g
3. yeHae! sl

4, ggre] fHagid

[Question ID = 1464][Question Description = 159_71_SCY_SEP22_S2_Q59]
1. 1 [Option ID = 5853]
2. 2 [Option ID = 5854]
3. 3 [Option ID = 5855]
4. 4 [Option ID = 5856]

60)
is an epistemological position that advocates the application of the miethods ef natural sciences to

the study of social reality and beyond.

1. Interpretivism

2, Constructionism

3, Positivism

4, None of the above

__ TP 3 O g6t wieE & o geiee gy ot Sud W S § Uidkae jau @1 aredl &
HIHENT S aBTTd B ¢ -

1, FEAdG

2, FffkEE

3, GAgHag
4 IRETH PR T6



[Question ID = 1465][Question Description = 160_71_SCY_SEP22_S2_Q60]
1. 1 [Option ID = 5857]
2. 2 [Option ID = 5858]
3. 3 [Option ID = 5859]
4. 4 [Option ID = 5860]

61)
Who has written the book, 'World Revolution and Family' 7

1. William Goode

2, David Cooper

3, Michael Anderson
4 Ronald Fletcher

9 1 e ae2 RRalegmy U Bl 70 Tws fera g 7

1. fafoaa s
2, Bfas W
4, IS et

[Question ID = 1466][Question Description = 161_71_SCY_SEP22_S2_Q61]
1. 1 [Option ID = 5861]
2. 2 [Option ID = 5862]
3. 3 [Option ID = 5863]
4. 4 [Option ID = 5864]

62)
A entails the collection of data om mrore than one case (usually quite a lot more than one) and at

a single point in time.

1. Cross-sectional research design
2, Longitudinal research design

3, Bath of the above

4, None ef the above

___ & Jd¥id U HHd (FHEGG: U 4 Sga Hig®) | e J1Ed R UF ol 999 H ids! @l gusil
GIGIEL

1., SR Y SHEH

2, aeH Y sifHdeg

3, IUREd oAl

4, IR H L BE Tl

[Question ID = 1467][Question Description = 162_71_SCY_SEP22_S2_Q62]
1. 1 [Option ID = 5865]
2. 2 [Option ID = 5866]
3. 3 [Option ID = 5867]
4. 4 [Option ID = 5868]



63)
Select the correct statement/s

A, Quantitative approach - Post-positivist worldview, experimental strategy of enguiry and pre and paost-
test measures of attitudes

B. Qualitative approach - Constructivist worldview, ethnographic design and observation of behaviour
C. Qualitative approach - Pariticipatory worldview, narrative design and open-ended interviewing

D. Mixed methed approach - Pragmatic worldview, collection of both qualitative and guantitative data
sequentially

E. Qualitative approach - Post-positivist worldview, experimenital strategy of inguiry and pre and post-test
measures of attitudes

Choose the correct answer from the options given below;

1.4, Band Conly
2.B and Conly

3.A B Cand Donly
4, Aand Eonly

el Y B 99 DL ;

A. TURETTHS JUFTH - SR YA&AIG, a4 Sp®iY], T81 &1 IITRS ®r-id R sEk & odem 9@
SIIR Tl Gy A

B, U 3UH - FRifars, e e, Jeifda det sifieeg SR oOaeR &1 Ua

C. oS SUNTH - GeHTT 9 eI, puTias Sfimed SR Hadr TIaTPR

D. oy faftr gurT - wareHard 3w sRe, uhamTES SR UEE aF1 Aide! @ HHES 98

E. TUNE® SUNTH - GTR WdlE, aiy@ Sipei, Uss] & TN S-id AR sfiahy & 9iem ud &R
TRI&0T Ugr A0

Jrafeu e ol g G oe S ;

1.FaAA B AR C
2, FEABARC

3, PaATA, 8 CHRD
4, FATAARE

[Question ID = 1468][Question Description = 163_71_SCY_SEP22_S2_Q63]
1. 1 [Option ID = 5869]
2. 2 [Option ID = 5870]
3. 3 [Option ID = 5871]
4. 4 [Option ID = 5872]



64)
Match List-1 with List-11

List-1 List-1l

(Principles) (Meaning)

A. Phenomenalism|l. Knowledge is amrived at througli the gathering of facts that provide the basis for laws

o~ Il. Asserts that social phenomena and their meanings are continually being
B. Deductivism . . )
accomplished by social actors

C. Inductivism Ill, The purposze of theory is to generate hypothesis that can be tested

D. V. Only phenomena and hence knowledge confirmed by the senses can be warranted

Constructionism  |as knowledge

Choase the correct answer from the options given below:

T.A-LB-1L,C=-lL,B- IV
2A-1LB-MC-,B=
JA-MB-ILC-LD-=1
4A-ILB-ILC=-1,D-IV

T -1 1 -1 GHIC B9 ;

CEl =7 -1l

(i) (@)

A, 1. T B SR WG & et auli @ Uhd o 9 ab
geliergiaie  [Ugdl idl 8

I\. Bedl 8 T g aREet SR I o @R
TrfoTE PRG! §R U {61 o 9@ &

1. rsia @1 Sexg U Wiaded &1 Yo Sl § el
C TS e ey e o Wapell 2

AR v, T OReeAT SR SOt 3l gR1 URyE 94 &1 39
b A ST S@dl 6

Hrd feu e fadedl © 4 Wl 3o

TA-LB=1, E= I, B- 1V
ZA-ILB-IM,C-L,B=M
FA-IVB-lLC-L D=1
4A-NLB-ILC-1,D-IV

. FEaE

[Question ID = 1469][Question Description = 164_71_SCY_SEP22_S2_Q64]
1. 1 [Option ID = 5873]
2. 2 [Option ID = 5874]
3. 3 [Option ID = 5875]
4. 4 [Option ID = 5876]



65)
Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason

(R).

Assertion (A) : There is the increasing prevalence of borderless diseases.

Reason (R) : There is the increase in global travel and an increasing rate of human migration.
In light of the above statements, thoose the correct answer from the options given belew;

1. Bath (A) and (R) are true and (R) is the correct explanation of (A)

2, Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
3, (A) is true but (R) is false

4 (A) is false but (R) is true

T o RUTEE: ol 3ftme () 3R g @1 HRU (R) Tl T &l
B () ; HiE fed I &1 ueHd 9 6l 8l

@R (R) : A4® T H Geiadl 6l 6] & 3R -4 WG/ ®1 &3 5 913 ol % 6
ST B! & HTED J FHidd [ H 9 g1 I 9 -

1..(A) IR (R) T TE1E 3R (R), (A) P Hel ST B
2.(A) 3R (R) GHT G861 & U3 (R), (A) B Hal oI1aT Ta) o
3. (A) WBl € R (R) Hel el 8|

4, (A) HEI 761 & UG (R) HEI 81

[Question ID = 1470][Question Description = 165_71_SCY_SEP22_S2_Q65]
1. 1 [Option ID = 5877]
2. 2 [Option ID = 5878]
3. 3 [Option ID = 5879]
4. 4 [Option ID = 5880]

66)
A, Fantasy city is a type of city in which great emphasis is placed on creating a spectacle, especially for
consumption, |eisure and tourism.
B. Edge cities are located at the innermaost rings of large cities.
C. Megacities are cities with populations greater than 10 million people.

D. Megalopolis is a cluster of scantly populated cities:that can stretch over great distances.

E. Metropolis is a large, powerful and cuturally influential urban area consisting of a central city and
surrcunding suburbs.

Choose the correct answer from the options given below,

1.A anly

2.A and B only
3.C and Eonly

4 A CandEonly



A. BTdl e UF U8 UEY &1 YOK ¢ feed faigey SuH, SEew SR 9T & O e @ W)
Y@ & foar s 8l

B, O [ 95 TRI & el 7RI 9X 3@y 8 o
c. 7 el S AR B & ot sl 10 e g sfiw erdt 81
D. FRTCHIC Sd S1aG] Gl -WRI @1 g [eTa] haE og® &5 0 el &l
£, HEIIfory Ud €51, URIe SR UReiam &4 4 WHTE Wed) 477 § e U6 d5id FR gl & 3R 9Ri $R
IUR B B
ra o e fawedi § G W8 SR 2 -
1. 6ad A
2, @a0 A 3B

3, Hae C AN E
4, HBITACHRE

[Question ID = 1471][Question Description = 166_71_SCY_SEP22_S2_Q66]
1. 1 [Option ID = 5881]
2. 2 [Option ID = 5882]
3. 3 [Option ID = 5883]
4. 4 [Option ID = 5884]

°7) Adopting a historical approach to the dispersal of peeple, R, Cohen identifies the follewing categories of
diasporas:
A, Victim diasporas
B. Labour diasporas
C. Trading diasporas
D. Impernial diasporas
E, Cultural diasporas

Choose the correct answer from the options given below;

1.A, B, Dand E only
2, Aand Eonly

3. A anly
4ABCDandE



R, Bie- = Al & bard & g Diaelae SUFE 30-Td 8¢ SHEUR &1 Hefkiad 3t & 9ea- o) -
A, Uifsd S/EEUR]

B, i@ SIUHUR]

C. SR SR

D. FHTTo® SHEURI

£, giepiom sEgdiRT

4 feu 7e fasedl  § |81 Gk 9 ;

1.$ad A, B, D, E
2. FaAAARE
3, FHaAA

4B CDINE

[Question ID = 1472][Question Description = 167_71_SCY_SEP22_S2_Q67]
1. 1 [Option ID = 5885]
2. 2 [Option ID = 5886]
3. 3 [Option ID = 5887]
4. 4 [Option ID = 5888]

68)
Relative poverty refers'to;

1. Poverty of the people who are relatively marginalised

2. Deprivation of resources that is life threatening

3. Deprivation of some peaple in relation to those who have more
4, None of the above

e e g

1. @A @l R el e Y 9 eRT W e
2. 5lia & foe grae damEt 4 3fad BAr

3, SOEEHTF Al @ goHl & $S qill @l giad el
4, I H § BIE T

[Question ID = 1473][Question Description = 168_71_SCY_SEP22_S2_Q68]
1. 1 [Option ID = 5889]
2. 2 [Option ID = 5890]
3. 3 [Option ID = 5891]
4. 4 [Option ID = 5892]

69)
Use of public office for private gain is known as:

1. Abuse

2, Corruption

3, Insincerity

4, None of the above



e Y & T gde-® Us d JUAN &l & T H 9 wdl 8

[Question ID = 1474][Question Description = 169_71_SCY_SEP22_S2_Q69]
1. 1 [Option ID = 5893]
2. 2 [Option ID = 5894]
3. 3 [Option ID = 5895]
4. 4 [Option ID = 5896]

70)
What are the main features of the Rights of Persons with Disabilities Act, 20167

1. Number of disabilities increased from 7 to 21

2, Percentage of reservation increased from 3% to 4 %

3. Special courts, to handle rases related to vielation of rights of person with disabilities, set up in each
district

4, All of the above

e HiteR ST, 2016 31 05 RO &S 7

1,79 21 9% @) g0 | Fraanet 7 afg

2, A& 3 U= & 96 4 Ufaga g1 7l

3, @ forel | [HSgaerl @ HAUGRI & Jeadd § 9eidd 91894 @ (M9eH & ol (998 el
4, IRE 9

[Question ID = 1475][Question Description = 170_71_SCY_SEP22_S2_Q70]
1. 1 [Option ID = 5897]
2. 2 [Option ID = 5898]
3. 3 [Option ID = 5899]
4. 4 [Option ID = 5900]

71)
Match List-1 with List-l
List-1 List-11
A. Harijan I. Constitutional and administrative
B. SE/ST II. Political and cultural
. Dalit 11l Political and administrative
D. Maha-Dalit IV. Maral and ethical

Choose the correct answer from the options given below;

TLA-LB-ILE-,DB-IV
ZA-WV,B-LC-IL,B-N
LA-VB-ILE-LE-1
AA-LB-ILE-IV, D-



Tl - @ G -1 | gAfd B ;

ol -l g -1l

A, B I GaEn® 18 IR
B.TEEL T R EElGER RS ARET
c.&fed 111, Treifcie Td TS

D. Hgl - Gie Iv. A vd i - Fifd favas
id T e fadedl H § W81 SR gHU:

TLA-LB-ILC-N,D-N
2ZA-NV,B-LC-1LB-N
LA-IV,B-ILE-LDB-
4A-LB-ILC-IV,D-|

[Question ID = 1476][Question Description = 171_71_SCY_SEP22_S2_Q71]
1. 1 [Option ID = 5901]
2. 2 [Option ID = 5902]
3. 3 [Option ID = 5903]
4. 4 [Option ID = 5904]

72)
Given below are two statements

Statement I; Karl Marx, Max Weber and Michel Foucault are the most influential figures in an intellectual
movement known as post-structuralism,

Statement II: Miche| Foucault has had immense influence on social sciences,
In light of the above statements, cthoose the correct answer from the options given belew;

. Both Statement | and Statement |l are correct
. Both Statement | and Statement |l are incorrect
.Statement | is correct but Statement Il is incorrect

J5 LD M -

. Statement | is incorrect but Statement || is correct

EIERAEZIC Tt

BYF - | : BT A5, O N AR AE00 Bo] SI-SEAEHdlG @ U § oF didd ale® Heed §
Tal e vHEeel digad ¢

DY - || ; HiSdd Ho] @ FHIS jagiH O A id® FHiE 61 8
Iuad ®YH| & HdiD 3 FHHiead [l H 8 el 3ud 94 -

1.3y AR 1 GH Fel 8l
2. @Y | 3R 1 GF T 6|
3. @Y | ¥l ©, b Y 1| Toa B
4,YA | TITd &, [ BYH 11 981 B

[Question ID = 1477][Question Description = 172_71_SCY_SEP22_S2_Q72]
1. 1 [Option ID = 5905]
2. 2 [Option ID = 5906]
3. 3 [Option ID = 5907]
4. 4 [Option ID = 5908]



73)
Chronologically arrange the following schools of thought as they appeared in the history of Sociology,

A, Positivism

B. Symbolic interactionism

C. Postmodernism

D. Functionalism

E. Structuralism

Choose the correct answer from the options given below

1.AEBDC
20,ACEE
3.ADEBC
40,8 ACE

Fafrad GaRuRTel & Wl ®f FH9RIE & Sideid H 3o ol @ SITPHTR ogaieyd Hifad ;
A, UEETg

B, UeiTer® i fepaar

C. SR-SYHBaEg

D. WebTdaTE

E. ByETE®aG

i fau e fowedl & G W) I ;

1.AJEB D C
20,ACEBE
3.AD,EBC
408 ACE

[Question ID = 1478][Question Description = 173_71_SCY_SEP22_S2_Q73]
1. 1 [Option ID = 5909]
2. 2 [Option ID = 5910]
3. 3 [Option ID = 5911]
4. 4[Option ID = 5912]

74)
Which one of the following is NOT correctly miatched?

1. Park and Burgess: Ecological School

2, H. W. Odum: Regional School

3, Dexter, Huntington: Impact of climatic conditions on humarn society
4, Maclver; Human Geography



foffer i e e ad enagafad i 8 7
1. 07 3R §719 ; Jdlaltode whe
2. 04, S5 HSH ; e W@
3. S®eA, BlcTed : 3Uae AP qulgHicd delNy 9 ggH- YgHe]
4, 1A - 59 (SaaIs|

[Question ID = 1479][Question Description = 174_71_SCY_SEP22_S2_Q74]
1. 1 [Option ID = 5913]
2. 2 [Option ID = 5914]
3. 3 [Option ID = 5915]
4. 4 [Option ID = 5916]

75)
Who has-conducted the study on Nayars of Kerala?

1. Gearge Peter Murdock
2, Kathleen Gough

3. Edward Westermarck
4, William N. Stephens

=94 4 fooge e o G QT OX €5 foedl 7

1. 9IS Hiek qal@
2, PUTHE B

3, TSds deedd
4 et w54

[Question ID = 1480][Question Description = 175_71_SCY_SEP22_S2_Q75]
1. 1 [Option ID = 5917]
2. 2 [Option ID = 5918]
3. 3 [Option ID = 5919]
4. 4 [Option ID = 5920]

76)

Given below are twa statements, one is labelled as Assertion (A) and the other is'labelled as Reason (R)

Assertion (A): Enhancing global conciousness s a vital dimension of increasing

environmental awareness.
Reason (R) : Our choices and actions are respensible for our actions towards ecology,
In light of the above statements, choose the most appropriate answer from the options-given below

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the carrect explanation of (A)
3. (A) iscorrect but (R) is not correct

4, (A) is not correct but (R) iscorrect



Jd el @y Ru T 8 : U @I i@y (A) IR UL & SR (R) Fe 1 6l
HYEYA (4) : 4D da-1 Hae- Thiaig SE Gl H dis B4 @ Ue Jewqyl HEH &l

@R (R) ; TR & Ufd 501 rarean & fie R uds SR e gsadi e &l
Iulad BYA! & HdID H FHidd fadedl H 9 el 3R 94

1.(A) 3R (R) &HI T8 & 3R (R), (A) T TE! AR 61

2. (A) 3R (R) THT T8I & U3 (R), (&) T T8l ARG T8 8
3. (A) el § TR (R) Wl & &

4, (A) WE1 61 & WA (R) R &

[Question ID = 1481][Question Description = 176_71_SCY_SEP22_S2_Q76]
1. 1 [Option ID = 5921]
2. 2 [Option ID = 5922]
3. 3 [Option ID = 5923]
4. 4 [Option ID = 5924]

77)
Who has written the book, 'The Family in India: Critical Essays' 7

1. P. Uberoi

2, Irawati Karve
3. A. M. Shah
4 1. P. Desaj

H U B C Biwl 37 o] : fma T AH® Jhd 0@l 8 ?

1,91, IeR1g
2. 30aq] #a
3, UUH. e
4,375 Ul 505

[Question ID = 1482][Question Description = 177_71_SCY_SEP22_S2_Q77]
1 [Option ID = 5925]
2 [Option ID = 5926]
3 [Option ID = 5927]
4 [Option ID = 5928]

A w N =

78)
Which one of the following practice matrilineal family structure?

.Garo
. Koya
. Garasia
. Gond

W -

Fafeiad # o fog sHwia A AgaRie® ki Sig-] @] Fha- 9™l ol 6 ?

1.7
2, @
3, RIS
4778



[Question ID = 1483][Question Description = 178_71_SCY_SEP22_S2_Q78]
1. 1 [Option ID = 5929]
2. 2 [Option ID = 5930]
3. 3 [Option ID = 5931]
4. 4 [Option ID = 5932]

79)
The #MeTos movement is a part of which wave of feminism?

A, First Wave

B. Second Wave

C. Third Wave

D. Fourth Wave

E, Fifth Wave

Choose the correct answer from the options given below,

A and B only
.B and C only
.C and Eonly

J5 WM =

D only

#T ¢ HffGivH ARIaIG & (&Y Tt (39) B TP 6 7
A, THH TET

B. Teeiig @ie¥

C. g T

D. oY @8

E, HaH 5T

414 fau e fawedl 5 & W8l S 9 ;

1. P A ARE
2. FEABARC
3, FaAC ARE
4, A D

[Question ID = 1484][Question Description = 179_71_SCY_SEP22_S2_Q79]
1. 1 [Option ID = 5933]
2. 2 [Option ID = 5934]
3. 3 [Option ID = 5935]
4. 4 [Option ID = 5936]



80)
Match List-1 with List-11

List-1 List-11

(Books) (Authors)

A, The Sociology of Disaster |. Jeffery D. Sachs

B. Environmental Sociology IIl. Ram Ahuja

C. The Age of Sustainable Development |lll. Thoemas E. Drabek
D. Social Problems in India V. John Hannigan

Choese the correct answer from the options given below:

T.A-IMB=-LC-1L,B=N
ZA-LB-lLE-IV,D-1
LA-NLB-IV,C-1, D=1
4A-INB-LC-1LD-1

il -1 @l ! -1l H AT By ;

i -l -

(T=TD) (cFE®)

A, T TR SiE fEamet LT 31 T
B. TR QiR 11. T SATEA

C. G U 3P TiH9d sqqude I, 4IEg s gre®
0. TIE Hiersd 5 aiedl iV, Fi BT
rd feu 7 famet § € Ot s g

TA-W,B-LC-1LB=
ZA-L,B-lILC-IV,D-1
BA-ILB-IV,C-L D=l
4A-VB=-LC-1ILD-1

[Question ID = 1485][Question Description = 180_71_SCY_SEP22_S2_Q80]
1. 1 [Option ID = 5937]
2. 2 [Option ID = 5938]
3. 3 [Option ID = 5939]
4. 4 [Option ID = 5940]

81)
Which is the largest-form ef Urban life today?

1. Edge city
2. Megalopalis

3, Metropolis

4 None ef the above



TS e Wia- @ G949 991 ¥4 41 87

1. 9 Tt
2, HEme
4 IRGIH P T8l

[Question ID = 1486][Question Description = 181_71_SCY_SEP22_S2_Q81]
1. 1 [Option ID = 5941]
2. 2 [Option ID = 5942]
3. 3 [Option ID = 5943]
4. 4 [Option ID = 5944]

82)
Who wrote the book, "The Lonely Crowd" 7

. Howard Rheingold
.Bruno Latour
. David Riesman

5 LD -

. Georg Simmel

G A PIgS TP & dad B g 2

1. 8188 e
2, FIaER
3. 3fas Radq
4, TS foag

[Question ID = 1487][Question Description = 182_71_SCY_SEP22_S2_Q82]
1. 1 [Option ID = 5945]
2. 2 [Option ID = 5946]
3. 3 [Option ID = 5947]
4. 4 [Option ID = 5948]

83)
Which one of the following was NOT a direct cause of the decline of the pre-British village artisan

industries?

1. Introduction of railways

2. Growth of modern Industries in [nidia

3. Intreduction of money econemy in India

4, Development of road transportation system

Fafarad § § & 91 @i gd g fres Ign & 9 &) Us SR A8 47

1, ¥0id &I LHSId

2. YIRA H SYHD ST P [GHTH

3, ¥RA H 7 ARG Hdgaw)] & Yo
4 TSH URde- WoTe) &l [aemg

[Question ID = 1488][Question Description = 183_71_SCY_SEP22_S2_Q83]
1. 1 [Option ID = 5949]
2. 2 [Option ID = 5950]
3. 3 [Option ID = 5951]



4. 4 [Option ID = 5952]

84)
Match List-1 with List-1l
List-1 List-11
(Thinkers) (Theory/Approach/Model)
A, W. W. Rastow I. World Systems Theory
B. Paul Baran II. Take-off Model
C. Amartya Sen IIl. Capabilities Approach
D. Immanuel Wallerstein V. Dependency Theary

Choase the correct answer from the eptions given below:

T.A-ILB=L,C=LD- IV
ZA-NLE-IV,C-1, D=1l
3A-LB-1L,E-IV, D=1
4A-ILB-MC-Il,B-|

Gl -1 ] gl -1l A ol :

Tl -l =1 -1l

() rzia / surmm Afg)

A S, S IRIE 1. T vt frsla (@es fawen aid)
B. UTd &% 1, S5 SiTh Hisd

C.3Hd 84 11}, &5 SURTH (U 3fHE)
D, SHI3E doied v, Frdar Risia (3UsSd i)

d fou e famedl § 9 w6 S I

TA-ILB=, -, D- IV
ZA-NILB-IV,C-1,D-1l
JA-LB-ILE=IV,B=N
4A-ILB-IV,C-lLB=]

[Question ID = 1489][Question Description = 184_71_SCY_SEP22_S2_Q84]
1. 1 [Option ID = 5953]
2. 2 [Option ID = 5954]
3. 3 [Option ID = 5955]
4. 4 [Option ID = 5956]

85)
Which socielogist coined the concept, “social relationship” to describe patterned human interaction

which is intentional, meaningful and symbeolic?

1..C. H. Cooley

2, Erving Goffman
3, Max Weber

4. V. Pareto



fmfafad 5 O feg garadt 3 ufoefig (@e) g4 catbar & 9o & fau "gEfee 49y S@yRom
@ @ o, 9 Siuie, 9e iR uaieTEd 6 7

1.9 = B
2, R MEaT
3 HFgas

4 & el

[Question ID = 1490][Question Description = 185_71_SCY_SEP22_S2_Q85]
1. 1 [Option ID = 5957]
2. 2 [Option ID = 5958]
3. 3 [Option ID = 5959]
4. 4 [Option ID = 5960]

86)
Which amiong the following are relevant and related to the national policy on education?

A. Radha Krishnan Commissien

B. Murlidhar Commission

C. Kidwai Commission

D. Kothar Commission

E. Tendulkar Commissian

Choose the correct answer from the options given below:

1.A and B enly

2.4 Band Eanly
3.A BandDonly
4. A Band Conly

fFrfead 7 9 S w1 RIgT W AP i B fo% H UHie R geih §
A, THFEH A

B, FRTHER AT

c. feas amam

D. BIGRI G
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[Question ID = 1491][Question Description = 186_71_SCY_SEP22_S2_Q86]
1. 1 [Option ID = 5961]
2. 2 [Option ID = 5962]
3. 3 [Option ID = 5963]
4. 4 [Option ID = 5964]



87)
Who has classified action into logical and nenlogical action?

1. Max Weber

2.T. Parsans

3. V. Pareto

4 None of the above

Frafeies 4 9 feg fbar & diee iR smiite fbaH Fiied &8 7
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[Question ID = 1492][Question Description = 187_71_SCY_SEP22_S2_Q87]
1. 1 [Option ID = 5965]
2. 2 [Option ID = 5966]
3. 3 [Option ID = 5967]
4. 4 [Option ID = 5968]

88)
Match List-1 with List-I
List-1 List-1l
(Thinkers) (Concepts/ideas)
A, A Comte |. Size-and density
B. E. Durkheim II. Level of intellectual development
C. K Marx IIl. Evolutien and Complexity
D. H. Spencer IV. Econiomic Influence

Choese the correct answer from the options given belew:

T.A-ILB-MC-1LD-1
ZA-ILB=1L,C=1M. D=
SA-LB-HLE-IV, D=1
4A-ILBE-ILC-1,D-1IV




Tl - @ G -1 | gAfd B ;

T - T -l

EELRET HGYRUMY / fdaR

AT T I HTHH 3N 9

B. % guElzg 11, Sif® ATy & &R
C. & TEd i1l IEEN AR Sedd
0. 79 €@ v, S uyTd

+rd fau e famenl o U ug SR gHT:

T.A-ILE-IV,C-L,D-1l
ZA-ILB=-L =1V D=1
3A-LB-ILE-IV, D=1
4A-1LB=-ILC=1,D- 1V

[Question ID = 1493][Question Description = 188_71_SCY_SEP22_S2_Q88]
1. 1 [Option ID = 5969]
2. 2 [Option ID = 5970]
3. 3 [Option ID = 5971]
4. 4 [Option ID = 5972]

89)
Who has classified political institutions into republic; aristocracy, monarchy and autocracy?

1. Robert Michels
2. Montesquieu
3. Harold Gould
4, Rajani Kothari

Faftfad 7 ¥ g TeFifae Swie & T0kE, Sai--04, U3, e o @ &4 H gilled 161 ¢ ?
1. 305 e
2, Hi=t
3. EeE TS
4,351 DIBHI

[Question ID = 1494][Question Description = 189_71_SCY_SEP22_S2_Q89]
1. 1 [Option ID = 5973]
2. 2 [Option ID = 5974]
3. 3 [Option ID = 5975]
4. 4 [Option ID = 5976]

90)
Who had given the concept of "miodes of individual adaptation®?

1. E, Durkheim
2. T. Parsons
3. R. K. Merton
4 P Blau
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[Question ID = 1495][Question Description = 190_71_SCY_SEP22_S2_Q90]

A wnN =

1 [Option ID = 5977]
2 [Option ID = 5978]
3 [Option ID = 5979]
4 [Option ID = 5980]

Topic:- 5_PARTB_S2

1)

Property, in Hobhouse's phrase, 'is to be conceived in terms of the control of man over things’, a control
which is recognized by society, more or less permanent and exclusive. Property may be private (individual or
collective) or common. In his account of the development Df.p[OpEI’t}i, Hobhouse observed that there is
some personal private property in all societies, but that in many primitive societies the principal economic
resources are communally owned (e.g. hunting land, grazing land, pasture), In more developed agricultural
societies, private ownership cemes to predominate. But Hobhouse pointed out that although tribal
commen ewnership disappears; common cwnership may be maintained for the joint-family, R, H. Lowie, in
an excellent short account of property, which uses much comparative material from primitive and civilized
societies, presents much of the same view. There is personal private property among all primitive peaple,
including names, dances, songs, myths, ceremonial regalia, gifts, weapons, household implements. So far as
the ‘instruments of production’ are concerned there are differences between hunters and food-gatherers;
where the land is tribal property (not always well-defined), and agriculturalists and pastoralists. Among
agriculturalists individual private property in land is frequently found, though the clan or tribe may still
exercise some contrel over its use or alienation. In the case of pastoralists, land may be communally swned
but not the livestock; 'the ownership of livestock strongly develops the sense of individual property’.

For the pastoralists:

1. Livestock may be communally owned
2. Land may be communally cwned

3. Both the above

4. More of the above
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[Question ID = 1496][Question Description = 191_71_SCY_SEP22_S2_Q91]
1. 1 [Option ID = 5981]
2. 2 [Option ID = 5982]

3. 3 [Option ID = 5983]
4. 4 [Option ID = 5984]

2 ] . ] . p
) Property, in Hobhouse's phrase, 'is to be conceived in terms of the control of man over things’, a control

which is recognized by society, more or less permanent and exclusive. Property may be private (individual er
collective) or commion. In his account of the development Df'pmperty, Hobhouse observed that there is
some personal private property in all societies, but that in many primitive societies the principal ecenomic
resources are communally owned (e.g. hunting land, grazing land, pasture), In more developed agricultural
societies, private ewnership comes fo predominate. But Hobhouse pointed out that although tribal
commen ewnership disappears; common cwnership may be maintained for the joint-family; R. H. Lowie, in
an excellent short account of property, which uses much comparative material from primitive and civilized
societies, presents much of the same view. There is personal private property among all primitive people,
including names, dances, sengs, myths, ceremanial regalia, gifts, weapons, household implements. So far as
the ‘instruments of production’ are concerned there are differences between hunters and food-gatherers;
where the land is tribal property (not always well-defined), and agriculturalists and pastoralists. Among
agriculturalists individual private property in land is frequently found, though the clan or tribe may still
exercise some control over its use or alienation. In the case of pastoralists, land may be communally owned
but not the livestock; ‘the ownership of livestock strongly develops the sense of individual property’.

In primitive societies, the principal economic resources are:

1. Privately owned

2. Personally owned

3. Communally owned
4. All the abave
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[Question ID = 1497][Question Description = 192_71_SCY_SEP22_S2_Q92]
1. 1 [Option ID = 5985]
2. 2 [Option ID = 5986]

3. 3 [Option ID = 5987]
4. 4 [Option ID = 5988]

3 ] . ] . p
) Property, in Hobhouse's phrase, 'is to be conceived in terms of the control of man over things’, a control

which is recognized by society, more or less permanent and exclusive. Property may be private (individual er
collective) or commion. In his account of the development Df'pmperty, Hobhouse observed that there is
some personal private property in all societies, but that in many primitive societies the principal ecenomic
resources are communally owned (e.g. hunting land, grazing land, pasture), In more developed agricultural
societies, private ewnership comes fo predominate. But Hobhouse pointed out that although tribal
commen ewnership disappears; common cwnership may be maintained for the joint-family; R. H. Lowie, in
an excellent short account of property, which uses much comparative material from primitive and civilized
societies, presents much of the same view. There is personal private property among all primitive people,
including names, dances, sengs, myths, ceremanial regalia, gifts, weapons, household implements. So far as
the ‘instruments of production’ are concerned there are differences between hunters and food-gatherers;
where the land is tribal property (not always well-defined), and agriculturalists and pastoralists. Among
agriculturalists individual private property in land is frequently found, though the clan or tribe may still
exercise some control over its use or alienation. In the case of pastoralists, land may be communally owned
but not the livestock; ‘the ownership of livestock strongly develops the sense of individual property’.

"Property is to be conceived in terms of the control of man over things”. Who said this?

1. R. H. Lowie

2. Hobheuse

3. Both the abgve

4. None of the above
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[Question ID = 1498][Question Description = 193_71_SCY_SEP22_S2_Q93]
1. 1 [Option ID = 5989]
2. 2 [Option ID = 5990]

3. 3 [Option ID = 5991]
4. 4 [Option ID = 5992]

4 ] . ] . p
) Property, in Hobhouse's phrase, 'is to be conceived in terms of the control of man over things’, a control

which is recognized by society, more or less permanent and exclusive. Property may be private (individual er
collective) or commion. In his account of the development Df'pmperty, Hobhouse observed that there is
some personal private property in all societies, but that in many primitive societies the principal ecenomic
resources are communally owned (e.g. hunting land, grazing land, pasture), In more developed agricultural
societies, private ewnership comes fo predominate. But Hobhouse pointed out that although tribal
commen ewnership disappears; common cwnership may be maintained for the joint-family; R. H. Lowie, in
an excellent short account of property, which uses much comparative material from primitive and civilized
societies, presents much of the same view. There is personal private property among all primitive people,
including names, dances, sengs, myths, ceremanial regalia, gifts, weapons, household implements. So far as
the ‘instruments of production’ are concerned there are differences between hunters and food-gatherers;
where the land is tribal property (not always well-defined), and agriculturalists and pastoralists. Among
agriculturalists individual private property in land is frequently found, though the clan or tribe may still
exercise some control over its use or alienation. In the case of pastoralists, land may be communally owned
but not the livestock; ‘the ownership of livestock strongly develops the sense of individual property’.

In-more developed agricultural secieties

1. Communal ownership dominates
2. Pastoral ownership dominates

3. Private ownership dominates

4. Social ownership dominates
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[Question ID = 1499][Question Description = 194_71_SCY_SEP22_S2_Q94]
1. 1 [Option ID = 5993]
2. 2 [Option ID = 5994]
3. 3 [Option ID = 5995]
4. 4 [Option ID = 5996]

5)

Praperty, in Hobhouse's phrase, 'is to be conceived in terms of the control of man over things’, a control
which is recognized by society, more or less permanent and exclusive. Property may be private (individual or
collective) or commion. In his account of the development Df'pmperty, Hobhouse observed that there is
some personal private property in all societies, but that in many primitive societies the principal ecenomic
resources are communally owned (e.g. hunting land, grazing land, pasture), In more developed agricultural
societies, private ewnership comes fo predominate. But Hobhouse pointed out that although tribal
commen ewnership disappears; common cwnership may be maintained for the joint-family, R, H. Lowie, in
an excellent short account of property, which uses much comparative material from primitive and civilized
societies, presents much of the same view. There is personal private property among all primitive peaple,
including names, dances, sengs, myths, ceremanial regalia, gifts, weapons, household implements. So far as
the ‘instruments of production’ are concerned there are differences between hunters and food-gatherers;
where the land is tribal property (not always well-defined), and agricuituralists and pastoralists. Among
agriculturalists individual private property in land is frequently found, though the clan or tribe may still
exercise some contrel over its use or alienation. In the case of pastoralists, land may be communally swned
but not the livestack; "the ownership of livestock strongly develops the sense of individual property’.

Which ameng the following are passessed by primitive people as personal private property?

1. Sengs, myths, dances-and names

2. Weapons, gifts, ceremenial regalia & household implements
3. Both the above

4. None of the above
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[Question ID = 1500][Question Description = 195_71_SCY_SEP22_S2_Q95]
1. 1 [Option ID = 5997]
2. 2 [Option ID = 5998]
3. 3 [Option ID = 5999]
4. 4 [Option ID = 6000]

Topic:- 5_PARTC_S2



1) Myrdal's well knewn pesition on theery of social change and development is that of circular causation and
cumulative change. He suspects the validity of constructing universal evolutionary stage of ‘growth’. These
according to him tend te be teleological and often have conservative ideolegies latent in them. The erucial
factor in development is an "upward’ movement of the sodial system as a whole with all its component
‘conditions’. These conditions fer the South Asian countries as described by Myrdal are: (1) output and
income; {2} conditions of production ; (3) levels of living; (4) attitudes towards life-and work; (5) institutions
and (6) policies. He assumes a uni-directional causal relationship between these conditions; an ‘upward and
downward’ mavement in cne would cause cumulative movement of similar nature in other conditions teo.
Value premises related to these conditions might differ from ceuntry to country specially in regard to
conditions which are treated for their 'independent’ (as a goal in themselves) values as different from those
having 'instrumental’ values. These valuations define ideological contexts of development in each natienal
seciety, but their selectivity is organically linked with attributes of social system as a whole. The
modemization process in India and other South Asian countries; according to Myrdal is heading fast
towards a climax and the time for reasonable choice for them is limited. The epportunity for & 'gradualist’
approach is also over. Myrdal thinks "it is not more difficult, but easier to cause a big change rapidly than-a
small change gradually. The prime areas for such big; rapid changes are social and institutional conditions in
Indian society. These conditions (4 and 5 of the ahdve) hoeld keys for mebilization of all ether condtions of
development.

According to Myrdal, it is easier

1, To cause a small change gradually
2. To cause a big change rapidly

3. To cause a medium change stowly
4. None of the abave
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[Question ID = 1501][Question Description = 196_71_SCY_SEP22_S2_Q96]
1. 1 [Option ID = 6001]
2. 2 [Option ID = 6002]



3. 3 [Option ID = 6003]
4. 4 [Option ID = 6004]

2)

Myrdal's well known pesition on theery of social change and development is that of circular causation and
cumullative change. He suspects the validity of constructing universal evolutianary stage of ‘growth’. These
according te him tend te be teleclogical and eften have conservative ideolegies latent in them. The erucial
factor in development is an ‘upward’ movement of the sodial system as a whole with all its component
‘conditions’. These conditions fer the South Asian ceuntries as described by Myrdal are: (1) output and
inceme; {2) cenditions of production ; (3) levels of living; (4) attitudes towards life-and work; (5) institutions
and (6) policies. He assumes a uni-directional causal relationship between these conditiens; an ‘upward and
downward’ movement in one weuld cause cumulative mevement of similar nature in other conditions too.
Value premises related to these conditions might differ from country to country specially in regard to
conditions which are treated for their ‘independent’ (as a goal in themselves) values as different from those
having 'instrumental’ values. These valuations define ideological contexts of development in each national
society, but their selectivity is organically linked with stiributes of social system as a whele. The
modermization process in India and other South Asian countries, according to Myrdal is heading fast
towards a climax and the time for reasenable cheice for them is limited. The opportunity for a 'gradualist’
approach is also over. Myrdal thinks "it is not mere difficult, but easier to cause a big change rapidly than a
small change gradually. The prime areas for such big; rapid changes are social and institutional conditions in
Indian society. These conditions (4 and 5 of the ahdve) held keys for mebilization of all ether condtions of
development.

Myrdal's theory of social change and developmerit is based on

1. Cumulative thange
2. Circular causation
3. Both the above

4, None of the sbove
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4. WG H Y HIS T



[Question ID = 1502][Question Description = 197_71_SCY_SEP22_S2_Q97]

A wnN -

3)

1 [Option ID = 6005]
2 [Option ID = 6006]
3 [Option ID = 6007]
4 [Option ID = 6008]

Myrdal's well known pesition on theery of social change and development is that of circular causation and
cumullative change. He suspects the validity of constructing universal evolutianary stage of ‘growth’. These
according te him tend te be teleclogical and eften have conservative ideolegies latent in them. The erucial
factor in development is an ‘upward’ movement of the sodal system as a whole with all its component
‘conditiens’. These conditions for the South Asian ceuntries as described by Myrdal are: (1) output and
inceme; {2) cenditions of production ; (3) levels of living; (4) attitudes towards life-and work; (5) institutions
and (6) policies. He assumes a uni-directional causal relationship between these conditiens; an ‘upward and
downward’ movement in one weuld cause cumulative mevement of similar nature in other conditions too.
Value premises related to these conditions might differ from ceuntry to country specially in regard to
conditions which are treated for their ‘independent’ (as a goal in themselves) values as different from those
having 'instrumental’ values. These valuations define ideological contexts of development in each national
society, but their selectivity is organically linked with attributes of social system as a whole. The
modermization process in India and other South Asian countries, according to Myrdal is heading fast
towards a climax and the time for reasenable cheice for them is limited. The opportunity for a 'gradualist’
approach is also aver. Myrdal thinks "it is not mare difficult, but easier to cause a big change rapidly than-a
small change gradually. The prime areas for such big; rapid changes are social and institutional conditions in
Indian society. These conditions (4 and 5 of the ahdve] held keys for mebilization of all ether condtions of
development.

Which of the following factors is NOT described by Myrdal for the development of South Asian countries?

1. Enwviranment

2. Policies

3. Institutions

4. Qutput and Income



forsta @1 wHTiee gRad- SR oo & g, s R 99 $RY AR d= oRkadT ¥ 96iba g1 d
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[Question ID = 1503][Question Description = 198_71_SCY_SEP22_S2_Q98]
1. 1 [Option ID = 6009]
2. 2 [Option ID = 6010]
3. 3 [Option ID = 6011]
4. 4 [Option ID = 6012]



4) Myrdal's well knewn pesition on theery of social change and development is that of circular causation and

cumulative change. He suspects the validity of constructing universal evolutionary stage of ‘growth’. These
according to him tend te be teleological and often have conservative ideolegies latent in them. The erucial
factor in development is an "upward’ movement of the sodial system as a whole with all its component
‘conditions’. These conditions fer the South Asian countries as described by Myrdal are: (1) output and
income; {2} conditions of production ; (3) levels of living; (4) attitudes towards life-and work; (5) institutions
and (6) policies. He assumes a uni-directional causal relationship between these conditions; an ‘upward and
downward’ mavement in cne would cause cumulative movement of similar nature in other conditions teo.
Value premises related to these conditions might differ from ceuntry to country specially in regard to
conditions which are treated for their 'independent’ (as a goal in themselves) values as different from those
having 'instrumental’ values. These valuations define ideological contexts of development in each natienal
seciety, but their selectivity is organically linked with attributes of social system as a whole. The
modemization process in India and other South Asian countries; according to Myrdal is heading fast
towards a climax and the time for reasonable choice for them is limited. The epportunity for & 'gradualist’
approach is also over. Myrdal thinks "it is not more difficult, but easier to cause a big change rapidly than-a
small change gradually. The prime areas for such big; rapid changes are social and institutional conditions in
Indian society. These conditions (4 and 5 of the ahdve) hoeld keys for mebilization of all ether condtions of
development.

The modernization process in India is

1. Heading fast towards climax

2. Limited time for reasonable choice
3. Both the above

4. None of the above

firsia @1 g oRad ok Gew & fHaih Tie R 99 R R 99 ofeds § 9siia 31 4
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g € © g1 uRiads, B ©u 9 Bic URadT B o1 e e B3 T8 afco AR Wl I9E 5139
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YRA H snyFaime &t ufha s -
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3, WIE gl
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[Question ID = 1504][Question Description = 199_71_SCY_SEP22_S2_Q99]
1. 1 [Option ID = 6013]
2. 2 [Option ID = 6014]



3. 3 [Option ID = 6015]
4. 4 [Option ID = 6016]

5)

Myrdal's well known pesition on theery of social change and development is that of circular causation and
cumullative change. He suspects the validity of constructing universal evolutianary stage of ‘growth’. These
according te him tend te be teleclogical and eften have conservative ideolegies latent in them. The erucial
factor in development is an ‘upward’ movement of the sodial system as a whole with all its component
‘conditions’. These conditions fer the South Asian ceuntries as described by Myrdal are: (1) output and
inceme; {2) cenditions of production ; (3) levels of living; (4) attitudes towards life-and work; (5) institutions
and (6) policies. He assumes a uni-directional causal relationship between these conditiens; an ‘upward and
downward’ movement in one weuld cause cumulative mevement of similar nature in other conditions too.
Value premises related to these conditions might differ from country to country specially in regard to
conditions which are treated for their ‘independent’ (as a goal in themselves) values as different from those
having 'instrumental’ values. These valuations define ideological contexts of development in each national
society, but their selectivity is organically linked with stiributes of social system as a whele. The
modermization process in India and other South Asian countries, according to Myrdal is heading fast
towards a climax and the time for reasenable cheice for them is limited. The opportunity for a 'gradualist’
approach is also over. Myrdal thinks "it is not mere difficult, but easier to cause a big change rapidly than a
small change gradually. The prime areas for such big; rapid changes are social and institutional conditions in
Indian society. These conditions (4 and 5 of the ahdve) held keys for mebilization of all ether condtions of
development.

Constructing universal evolutionary stage of growth may invelve the fellowing:

1. Teleological ideologies
2. Conservative ideclogies
3. Botly the above

4, None of the above

firsfar #1 g gRad- 3R Rew & g, Tt [T 99 SR o) dod oiad 3 9efia 81 4
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[Question ID = 1505][Question Description = 200_71_SCY_SEP22_S2_Q100]
1. 1 [Option ID = 6017]
2. 2 [Option ID = 6018]
3. 3 [Option ID = 6019]
4. 4 [Option ID = 6020]

Topic:- 14_GP_SH2_Set2_A

1) The following table shows the percentage (%) distribution of students studying in-six classes A-F of aschool
and shows the ratio of boys to girls among them. Number of students studying irr all six classes together is
600,

Class-wise distribution of students

Ratio
Class|%Students BoysGirls
14 20% 3:2
B 12% 31
c 16% 53
D 15% a7
E 21% 4:3
F 1626 11

The average of the number of girls studying in all six classes, A<F, is

1.41
2.42
3.43
444

Fafaiad v te fAucd & 88 S A-F H 90— [qanfial &1 faaw ufawd (%) ok 399 4 dsa!
@1 doiddl 4 AU a2l o) G4l B senell H JemRe fGenidal @1 oo 99 600 3| dia®l H Sl &
3MYR O3 U4 & IR oifae ;

faeniiaf @1 Sa-ar faary
R UIG]

Hal (96) Taepdl ———
A 20% 32

B 12% 31

C 16% 5:3

D 15% 57

E 21% 43

F 16% 253

ouft og Tensit A-F § ITd asledl o I8 @1 Sihd e g 2

1.41
2.42
3.43
4. 44

[Question ID = 556][Question Description = 101_0_GP22_SEP22_S2_QO01]



1 [Option ID = 2221]
2 [Option ID = 2222]
3 [Option ID = 2223]
4 [Option ID = 2224]

A wnN =

2) The following table shows the percentage (%) distribution of students studying in'six classes A-F of a school
and shows the ratio of boys to girls among them. Number of students studying in all six classes together is
600.

Class-wise distribution of students

Ratio
Class|%5Students Boys:Girls
1A 20% 3:2
B 12% 31
c 16% 54
D 15% a7
E 21% 4:3
F 16% 1:1

The difference between the number of boys and the number of girls in all the six classes A-F together, is

1.102
2.114
3.106
4.108

FgfaRad aifcd te faucd $ 88 B4 A-FH Eg-<a [Qanfial &1 faavw ulawd (%) 3R 399 4 ds@!
@1 TSipdl ¥ HIUd il o) W B8 Penal H JgRq faeniial @1 $u 9@ 600 3| diael H SR ®
YR O3 U4 & IR oifae ;

faeniiaf o1 Sa-ar faawy
UG
DT (96) Taepndt ——
A 20% 32
B 12% 31
C 16% 5:3
D 15% 57
E 2196 4:3
F 16% 117

i S5 Ball A-F O fHE o ool & U5 3R deiedl & 48 & 81 fba-T a8 7

1.102
2,114
3.106
4. 108

[Question ID = 557][Question Description = 102_0_GP22_SEP22_S2_Q02]
1. 1 [Option ID = 2225]
2. 2 [Option ID = 2226]
3. 3 [Option ID = 2227]
4. 4 [Option ID = 2228]



3) The following table shows the percentage (%) distribution of students studying in'six classes A-F of a school
and shows the ratio of boys to girls among them. Number of studants studying inall six classes together is
600.

Class-wise distribution of students

Ratio
Class|%5Students Boys:Girls
14 20% 32
B 12% 31
c 16% 54
D 15% a:7
E 21% 4:3
F 16% 11

In the given pair of classes, which two classes have an equal number of boys in them?

1.Aand C
2.Cand F
3.DandF
4. EandF

fafufag aifvie te [aem & o8 densi a-FH sfwg-a qanfial o1 faaw ufaee () SR 98 4 osaf
&1 usiodl H U a2l 81 Wl ©8 perell H regd iyl &1 oa 9B 600 8| diicie H SR @
3MTYR 9T 04T & FaR ailog ;

faeniiaf @1 ®ai-ar faaw
& UG
D COREEILI % T
A 20% 32
B 12% 3
T 16% 5:3
B 15% a7
E 21% 43
F 16% 1:

il 3 7TE Harl & gl | | - ol ®arel 8 asm] &) 4 Ue 9HH ¢ 7

1.ARC
2.CHRF
3.D3ARFE
4 F3ARE

[Question ID = 558][Question Description = 103_0_GP22_SEP22_S2_Q03]
1. 1 [Option ID = 2229]
2. 2 [Option ID = 2230]
3. 3 [Option ID = 2231]
4. 4 [Option ID = 2232]



4) The following table shows the percentage (3s) distribution of students studying insix classes A-F of a school
and shows the ratio of boys to girls among them. Number of students studying in all six classes together is
600.

Class-wise distribution of students

Ratio
Class|%Students Boys:Girls
A 20% 32
B 12% 31
c 16% B
D 15% 2:7
E 21% 4:3
F 16%6 11

If'P and Q are the differences between the number of boys:and girls in class A and class C, respectively,
then the percentage of P with reference to Q is

1.80%
2.120%
3.100%
4,.90%

Fofafag afee oo faacy #1 o Tl A-F F oagsg faenfiat &1 e uiges (o) SR o8 9 a9t
@1 Tsiedl ° U a2l o) T S8 Herl ¥ g [Gaidal ®1 $d 9B 600 3| ol § SRl ®
YR TR Al & g Gifae :

faeTieal &1 Ha-ar faawo
iG]
W& (36 Faepedf e
A 20% 3:2
B 12% 31
% 16% 5:3
D 15% 87
E 21% 43
F 16% 141

e BT A 3R BET ¢ H dS@! A7 asihyl & 4= 8 AdT BE: P AR Q & Q & g H p &1 ufawd
fEarg 7

1.80%
2.120%
3.100%
4:90%

[Question ID = 559][Question Description = 104_0_GP22_SEP22_S2_Q04]
1. 1 [Option ID = 2233]
2. 2 [Option ID = 2234]
3. 3 [Option ID = 2235]
4. 4 [Option ID = 2236]



5) The following table shows the percentage (%) distribution of students studying in'six classes A-F of a school
and shows the ratio of boys to girls among them. Number of students studying in all six classes together is
600.

Class-wise distribution of students

Ratio

Class|%Students Boys:Girls
A 20% 3:2
B 12% 31
c 16% 53
D 15% a7
E 21% 43
F 16% 11
Numberof boysinclass Bis % more than the number of girls in class F.

1.8.5%

2.12.5%

3. 15%

4.17.5%

Fgfaiag aifid U [9aed @1 98 Be3 A-F H E0-a Qe of faoew uiage (%) 3R 398 4 98!
@ Tsiedl ° U a2l o) T S8 Serl ¥ g [Gaidal ®1 $d 9B 600 3| Jiasl § SRl ®
YR 9T 74T & IR aifeg :

faeTieal @ San-ar faawo
HUId

DA (9 Tamdf Tt
A 20% 3:2

B 12% 31

¢ 16% 5:3

D 15% 8:7

£ 21% 43

F 16% 117

T FH Tofedl ©f OeT 9 HETe H dod! ®f 9 fd- uiad i@ g 7

1.8.5%
2.12.5%
3.15%
4.17.5%

[Question ID = 560][Question Description = 105_0_GP22_SEP22_S2_QO05]
1. 1 [Option ID = 2237]
2. 2 [Option ID = 2238]
3. 3 [Option ID = 2239]
4. 4 [Option ID = 2240]

Topic:- 14_GP_SH2_Set2_B



1)
While designing assessments, teacher must focus on which of the following as per Outcome Based
Education (OBE)?

1. Activities

2. Reading material
3, Pre-reguisites

4, Learming outcomes

HET @) ABg BYd 999, TRoTH-YRE e (i di3) & ofar suwuE »l FE d 9 g W
o Biad $e 9t 7

1. TRafafEET
2. &4 gt

3, gaieni
4, 3T givong

[Question ID = 561][Question Description = 106_0_GP22_SEP22_S2_Q06]
1. 1 [Option ID = 2241]
2. 2 [Option ID = 2242]
3. 3 [Option ID = 2243]
4. 4 [Option ID = 2244]

2)
Which of the following are correct in the case of Learning Management System (LMS) 7

A, LMS is a software.

B, LMS tan be used for virtual teacher-student groups.

C. LMS is a hardware,

D. LMS can be used for online guizzes.

E. LMS can be used for making institutional websites,
Choose the correct answer from the options given below:

1.4, Band E enly
2.B, Cand D only
3. A BandDonly
4 A B DandE only
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A. U, TH. U9, U6 SRR ¢

B, TS, UH, T4, &1 39l MR Hage-36 Te! & ok a1 o 9ol & |
C. U0, UF, U9, TP 5r8aW &

D. UF, UH. TH, &1 SUdi 3{-eig el (Wied) & o i o e gl
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1. @aAA BARE
2, AT, C 3R D
3, FHAAA BARD
4, FHAAA B DIARE

[Question ID = 562][Question Description = 107_0_GP22_SEP22_S2_Q07]
1. 1 [Option ID = 2245]
2. 2 [Option ID = 2246]
3. 3 [Option ID = 2247]
4. 4 [Option ID = 2248]

3)
Which of the following toels can be used for traditional offline teaching?

1. Projector

2, Powerpoint

3, Physical models
4, LMS

RERTTG ABaR - & fog Fefafaa & 3 5w Suswn o sum fear o 9o & 2

1, FafE (FeER)
2, UEEE<

3, Wifd® ufgey
4 UHEHTE.

[Question ID = 563][Question Description = 108_0_GP22_SEP22_S2_Q08]
1. 1 [Option ID = 2249]
2. 2 [Option ID = 2250]
3. 3 [Option ID = 2251]
4. 4 [Option ID = 2252]

4)
The development of MOOQCS for undergraduate disciplines has been given to which of the following

National Caerdinators?

1. 1IM Bangalore

2, Al India Council of Technical Education (AICTE)
3, Consertium of Educational Communication (CEC)
4, Indira Gandhi National Open University (IGNOU)



qEaTad faual & g .. . &1 el o @ o Feiiiad | 9 e Wi vdiee o) o g

1. 313, 3204, §TER

2, JiaT YA ae-ie] (a1 RYg [@HEdAs)
3, Yt 99R dom ({is.90)

4, 33T T 1T A (9T 39)

[Question ID = 564][Question Description = 109_0_GP22_SEP22_S2_Q09]
1. 1 [Option ID = 2253]
2. 2 [Option ID = 2254]
3. 3 [Option ID = 2255]
4. 4 [Option ID = 2256]

5)
"Eduration is the manifestation of perfection already in man" was stated by

1. Rabindranath Tagere
2. Swami Vivekanand
3. M. K. Gandhi

4, 5ri Aurcbindo

e ST uT 5, e 79 7 ugd ¥ & fagm 9rmiar & Ul e g 1"

1. WEEY IR
2, W fga@Hg
3, T, e
4 ot AT

[Question ID = 565][Question Description = 110_0_GP22_SEP22_S2_Q10]
1. 1 [Option ID = 2257]
2. 2 [Option ID = 2258]
3. 3 [Option ID = 2259]
4. 4 [Option ID = 2260]

6)
Both gualitative and quantitative research are concerned with

1. Data reduction

2, Artificial settings
3, Uniformity of data
4, Social fantasy

TUTES T4 AR AEES i S HEiciEd 5 Y e deEd g 2

1. STET GHIH
2. ®iam ufaa=
3, SE1 ®] TH gl
4, rThoTe Ay o

[Question ID = 566][Question Description = 111_0_GP22_SEP22_S2_Q11]
1. 1 [Option ID = 2261]
2. 2 [Option ID = 2262]
3. 3 [Option ID = 2263]



4. 4 [Option ID = 2264]

7)
The snowball sampling method can be employed in

1. Histarical research

2, Ethnographic research
3. Content analysis

4, Narrative analysis

rafafes 3 ¢ feg 4 weia ufaggs Rt e o s gear e 7
1. Bfoeifas =
2, oG Wy

3. faugaw fgeamm
4, gdid fagemo

[Question ID = 567][Question Description = 112_0_GP22_SEP22_S2_Q12]
1. 1 [Option ID = 2265]
2. 2 [Option ID = 2266]
3. 3 [Option ID = 2267]
4. 4 [Option ID = 2268]

8)
Which of the following are the products of grounded theory?

A, Experimenital framework

B. Concepts-

C. Hypotheses

D. Attributes of a category

E. Theoretical dilution

Cheose the correct answer from the options given below:

1.4, Band C only
2.B, Cand D only
3,C, D and E only
4 A BandEaonly



Fafafag 48 o1 9 smuR @dfes) e s sac s ?
A, TS Bl

B, HPea

C. iame

D. U% Suil & 1o

E. Hgifcs q@d
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1. @A A, B AR C
2, HaTE, C 3R D
3, &aEC, DARE
4, FaAABHARE

[Question ID = 568][Question Description = 113_0_GP22_SEP22_S2_Q13]
1. 1 [Option ID = 2269]
2. 2 [Option ID = 2270]
3. 3 [Option ID = 2271]
4. 4 [Option ID = 2272]

9)
Which of the following are of practical sigrificance in research?

A, Social pressure

B. Research topic

C. Research design

D. Research methed

E, Comparison with fellow researchers

Choose the correct answer from the options given below:

1.4, Band C only
2.4 DandEonly
3.C, Dand E anly
4 B, Cand D only



iy H Fatiied # | e @1 Aeeie Je@ & ?
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B, MY fawg

C. 114 Hfifped

D. Ty faf¥
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1. @A A, B AR C
2, HATAA, D HRE
3, $aEC, DARE
4, FHAEB, C AR D

[Question ID = 569][Question Description = 114_0_GP22_SEP22_S2_Q14]
1. 1 [Option ID = 2273]
2. 2 [Option ID = 2274]
3. 3 [Option ID = 2275]
4. 4 [Option ID = 2276]

10)
Given below are two statements:

Statement I: A research design is blueprint that guides the use of a research methed and analysis of
data.

Statement lI: A research design is in no way connected with the expression of causal relations between
variables.

In light of the above statements, thoose the most appropriate answer from the options given below:

. Both Statement | and Statement |l are correct
. Both Statement | and Statement || are incorrect
. Statement | is correct but Statement Il is incorrect

J5 WM =

. Statement | is incorrect but Statement || is carrect

da gy RUEE:

HY - | ; Ty ifPHed ue TET siie & ol 2 A & i oiR Srer faReium & 2niee e B
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1.9 | AR 1 EF TRl Bl
2. @Y | 3R (| S e B
3. @Y | ¥8l o, fog B4 1| TTd B
4, Y | 71eid &, g By || 98l 8

[Question ID = 570][Question Description = 115_0_GP22_SEP22_S2_Q15]
1. 1 [Option ID = 2277]
2. 2 [Option ID = 2278]
3. 3 [Option ID = 2279]



4. 4 [Option ID = 2280]

11)
Mediated communication reflects

. The communicator's cultural background
.Social expectations of the under-privileged
. Ethical desires of the society

. Majoritarian hegemony of language

W -

Hifzm & g1 gEmy g uRafdd #de 1

1. NS & gi@ide ggdE
2, afdl ot grfee e
3. GHIS ®1 Afd® D&l

4, {781 &1 ggHwAEG] v

[Question ID = 571][Question Description = 116_0_GP22_SEP22_S2_Q16]
1. 1 [Option ID = 2281]
2. 2 [Option ID = 2282]
3. 3 [Option ID = 2283]
4. 4 [Option ID = 2284]

12)
Meaning of transmitted message in communication is a

1. Sender activity

2, Receiver activity

3, Channel activity

4, Collaborative activity

TN H U Heu o 3 §

1, U9& &1 [adad
2, JTidd| @ faremand
3, I @] [hareany
4, FEATTED (paieag

[Question ID = 572][Question Description = 117_0_GP22_SEP22_S2_Q17]
1. 1 [Option ID = 2285]
2. 2 [Option ID = 2286]
3. 3 [Option ID = 2287]
4. 4 [Option ID = 2288]



13)
Which of the following are the traits of non-verbal communication?

A, It has limited meaning.

B, It does not have substitution,

C, It can convey contextual meaning.

D. It ean influence receptors:

E, it can affect personal relationship.

Choose the correct answer from the options given below,

1.4, Band Conly
2.B, Cand D only
3.C, Dand Eonly
4 A DandEonly

ENfeg® THINY B HRfeRad o 9 @ [AYea 8 7
A 2 difg A s gl

B. ST Ui T8l a1l &

C. U HeHie® o wuid vl gl

D. Tg Ui 3l 1 UHIiad $X Hodl 6

E. I8 el HaHl 02 UHid S Hod| & |

e e e fasedl 5 § 981 SR 9 ;

1.3a0A, B AR C
2, ®ad B, C IRD
3, &aEC, DARE
4, FHaAA DIARE

[Question ID = 573][Question Description = 118_0_GP22_SEP22_S2_Q18]
1. 1 [Option ID = 2289]
2. 2 [Option ID = 2290]
3. 3 [Option ID = 2291]
4. 4 [Option ID = 2292]



14)
Given below are two statements:

Statement I: One of the critical elements in the conceptual definition of communication is the level of

observation.
Statement II: We should not forget the factor of intentionality of communication to understand it.
In light of the above statements, thoose the correct answer from the options given belew;

. Both Statement | and Statement |l are true
. Both Statement | and Statement || are false
. Statement | is true but Statement Il is-false

J5 WM —-

. Statement | is false but Statement [l is true

gy REEE:

BYA - | ; RN @] HTURIEHS UNHEI § UF Aoy 9 guaey &l ©i 8l
DY - 1| ; 5H 39 GHH @ [ GBI &I Wil & dR® @ Jgl ol aliet|
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1. ®YT | 3R 1 GF el gl
2. BT | 3R 1 G TEd
3, @Y | el &, (oorg oY 1 Tad &
4, BY | TR &, ftheg HYA 11 FR1 B

[Question ID = 574][Question Description = 119_0_GP22_SEP22_S2_Q19]
1 [Option ID = 2293]
2 [Option ID = 2294]
3 [Option ID = 2295]
4 [Option ID = 2296]

A wpN =

15)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : As regards communication, a major function is to build, manipulate and use symbels.
Reason R : One of the functions of communication is to entertain the receivers,
In light of the above statements, thoose the correct answer from the options given below;

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4, As false but Ris true
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[Question ID = 575][Question Description = 120_0_GP22_SEP22_S2_Q20]
1. 1 [Option ID = 2297]
2. 2 [Option ID = 2298]
3. 3 [Option ID = 2299]
4. 4 [Option ID = 2300]

16)
In a certain coding scheme 'MOTHER' is coded as "OQVIGT. How will 'PARTNER’ be ceded in the same

coding scheme?

.RDUTOHU
.REUTORHU
. RETUOGT
. RCTVPGT

da LW =

18d ©e TS H "MOTHER' & fST '0QVIGT ¢ 241 T4 81 THi $¢ IS H 'PARTNER' & fog &e &1
B 2

.RDUTCHU

 REUTOHU

1
2

3. RETUOGT
4, RCTVPGT

[Question ID = 576][Question Description = 121_0_GP22_SEP22_S2_Q21]
1. 1 [Option ID = 2301]
2. 2 [Option ID = 2302]
3. 3 [Option ID = 2303]
4. 4 [Option ID = 2304]

17)
Two numbers are in the ratic of 6:7. If 12 is addad to sach of the numbers; their ratio becomes 7:8. Find

the twaz numbers,

1.72, 84
2.84, 96
3.84, 98
4,96, 84



o GETE 6.7 & AU H 41 78 81 At Ude O § 12 Wi o 5 o 99@T U 7:8 8 e £ Gl
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1.72, 84
2.84,96
3.84, 98
4.96,84

[Question ID = 577][Question Description = 122_0_GP22_SEP22_S2_Q22]
1. 1 [Option ID = 2305]
2. 2 [Option ID = 2306]
3. 3 [Option ID = 2307]
4. 4 [Option ID = 2308]

18)
The average weight of 25 students of section A of a class is 60 kg, whereas the average weight of 35

students of section B of the same class is 62.5 kg. Find out the average weight of all the 60 students of
the class,

.60.5
. 62.2
.61.2
L6146

da W -

o BaT & A ) & 25 faanidal @1 3i9d 4R 60 . &, 96i® o4 @& & 8 o7 & 35 faeniéal & g
YR 62.5 [BU1. B | T&1 P 94 60 [aenidial &1 3igd 4R g @iieg 7

1.60.5
2.62.2
3.61.2
4.6146

[Question ID = 578][Question Description = 123_0_GP22_SEP22_S2_Q23]
1. 1 [Option ID = 2309]
2. 2 [Option ID = 2310]
3. 3 [Option ID = 2311]
4. 4 [Option ID = 2312]

19)
Simple interest accrued on a certain sum 'is 16/25 of the principal sum. If the numerical value of the rate

of annual interest (%) and time (years) are equal, what is annual rate of interest?

1.10%
2.7%
3.6%
4.8%



T (A TR O Afold QyRel <A ga Ui @1 16/25 8| i a5 @] ai® 62 & Sede J149 SR 999
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1.70%
2.7%
3.6%
4.8 %

[Question ID = 579][Question Description = 124_0_GP22_SEP22_S2_Q24]
1. 1 [Option ID = 2313]
2. 2 [Option ID = 2314]
3. 3 [Option ID = 2315]
4. 4 [Option ID = 2316]

20)
Find the missing term in the given series,

16, 20, 25, 30, 36, 42, 49, 7

1.91
2,64
3.56
470

21 TS 4@e ¥ O UG 91 DI ;

16, 20, 25, 30, 36,42, 49, 7

1,891
2,64
3. 56
4.70

[Question ID = 580][Question Description = 125_0_GP22_SEP22_S2_Q25]
1. 1 [Option ID = 2317]
2. 2 [Option ID = 2318]
3. 3 [Option ID = 2319]
4. 4 [Option ID = 2320]

0 If the statement, ‘Some officers are not honest' is given as false, then which of the following statements
gan be inferred to be true?
A, All henest beings are officers
B, Some officers are honest
C. No officers are honest
D. All officers‘are honest

Choose the correct answer from the options given below;

1.8 only
2, D only
3.A and Conly
4 B and D only
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1.&ad B
2, FHaAD
3, FAAAARC
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[Question ID = 581][Question Description = 126_0_GP22_SEP22_S2_Q26]
1. 1 [Option ID = 2321]
2. 2 [Option ID = 2322]
3. 3 [Option ID = 2323]
4. 4 [Option ID = 2324]

22)
For which of the fellowing forms of categorial propositions contraposition is valid?

A SomeSisP

B.Seme Sissnot P

C.NcSisP

D.AllSIisP

Choose the correct answer from the options given below;

1.4, Cand Donly
2.A, B CandD

3.4 Band Conly
4 B, Cand D only
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1.&a0 A, C3RD
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[Question ID = 582][Question Description = 127_0_GP22_SEP22_S2_Q27]
1. 1 [Option ID = 2325]
2. 2 [Option ID = 2326]
3. 3 [Option ID = 2327]
4. 4 [Option ID = 2328]

23)
Which informal logical fallacy is committed in the following statement?

“If you give him an inch, he will take a mile.’

1. Slippery slope

2, Appeal to force

3. Appeal to authority
4, Hasty generalization

FTciad 59 $UA H SN ao ol & Tia gF 94 TP 39 G|, 76 98 U9 Hig o ol ?

1. TFaeq W eam (Rl =m)
2. 50 e

3. U¥aR T8

4 Afagiid S

[Question ID = 583][Question Description = 128_0_GP22_SEP22_S2_Q28]
1. 1 [Option ID = 2329]
2. 2 [Option ID = 2330]
3. 3 [Option ID = 2331]
4. 4 [Option ID = 2332]



24)
Given below are two statements:

Statement |: I the Aristotelian syllogism, the major term and the minor term stand apart in the premises
though they are connected by the middle term with each other.

Statement II: In Nyaya syllogism, all the three terms stand synthesised in Upanaya.
In light of the above statements, thoose the most appropriate answer from the options given below:

. Both Statement | and Statement |l are correct

. Both Statement | and Statement || are incorrect

. Statement | is correct but Statement |l is incorrect
. Statement | is incorrect but Statement |l is correct

J5 WM —-

EIE R C ATt

BY - | ; RG] GG H YR 9169 H 987 Ug 3R 0Y U AT EId § J9iU d 999 UG g 5@ GER
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4, YA | TTTd &, [ BYH 11 981 B

[Question ID = 584][Question Description = 129_0_GP22_SEP22_S2_Q29]
1. 1 [Option ID = 2333]
2. 2 [Option ID = 2334]
3. 3 [Option ID = 2335]
4. 4 [Option ID = 2336]

25)
Which of the five essential characteristics of the middle term (hetu) is violated when an inference involves

a nan-inferentially contradicted middle?

. Middle term must be absent in all negative instances in which the major term is absent.
. Middle termy must be non-incempatible with the minerterm,

. Middle term must be present in the minor term,

. Middle term must be present in all positive instances in which the major term Is present,

da W -

T UG (5Q) @1 U9 A1GRGE [GRgded § § ©F 91 [GR9d 99 et el ¢ od 109l A § By
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[Question ID = 585][Question Description = 130_0_GP22_SEP22_S2_Q30]
1. 1 [Option ID = 2337]
2. 2 [Option ID = 2338]



3. 3 [Option ID = 2339]
4. 4 [Option ID = 2340]

26)

Miss Anita is excited to use a new software which is freely available to download but she cannot modify

or change the source code, Anita is using:

1. Freeware
2, Open-=source software
3, Firmware
4, Liveware

TR ST U U Uieaa? & A0 &34 & [0 Sutad | U8 Uiedi SI8-a1s &3 & [0 e $9 8
Iuae & U, 9 Hid B B YT Hug uiafad Te) & gadl|
s FufEa 8 fPu @ M R 3wl § 2

1. TBIGW

2. 5 9i8 iteaay
3, FHIR

4. TRIIR

[Question ID = 586][Question Description = 131_0_GP22_SEP22_S2_Q31]
1. 1 [Option ID = 2341]
2. 2 [Option ID = 2342]
3. 3 [Option ID = 2343]
4. 4 [Option ID = 2344]

27)

Miss Madhu clicks on a web link received in a8 message on her phone which promises her a
complimentary trip to a destination of her choice. She forwarded this message to her friend, Arun and
asked him to do the same. But Arun refuses and tells Madhu that her personal and private information,
such as online account names; login information and passwords can be stolen and she should be careful

of such attacks:

1. Phishing

2. Spamming
3. Scamming
4, Plagiarism

PR 7Y UF 49 @ 5 [Ga® &) & 9 39 04 BF W S48 H UK g3 o1 569 39 S99 ¢ & 1o
TP THFT O & 994 1601 T 8| 394 U (03 3 @] 98 4o¥ #FUd oY o4 4l g8l &4 o $al
T oY H SBR B 641 3R 7Y ¥ @el [& 3Hd ez @ral 9M, disd g4 SR urgds gl

Fafaae IR ol g g0s ST asd g SRS U EHdl ¥ Fraee 8 Fiee|

1. et

2, HudggA

3, AETSI (®HiE

4,4

[Question ID = 587][Question Description = 132_0_GP22_SEP22_S2_Q32]
1. 1 [Option ID = 2345]
2. 2 [Option ID = 2346]
3. 3 [Option ID = 2347]
4. 4 [Option ID = 2348]



28)
Given below are two statements:

Statement I: The binary eguivalent of decimal number (19)1gis (10101)2.

Statement II: (1011)z + (110)z = (10101):

In light of the above statements, thoose the correct answer from the options given below;

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement |l are false
3., Statement | is true but Statement |l is-false
4, Statement | is false but Statement [l is true

Jacl ey QUi g
PYF - | : TIETT G (19)15 D) laTk GHHE (10101)2 8

BYF - 111 (1011)z + (110)3= (10101)3
Juad Y & Heid 4 FRiiad el 3 ¥ 9el 9 91 -

1.9 | HR 1 EF TRl gl
2. @Y | 3R I GH A B
3. @Y | ¥el ¢, forg B 1| T B
4, Y | 7Ted &, g B || 981 8

[Question ID = 588][Question Description = 133_0_GP22_SEP22_S2_Q33]
1. 1 [Option ID = 2349]
2. 2 [Option ID = 2350]
3. 3 [Option ID = 2351]
4. 4 [Option ID = 2352]

29)
Individuals participating in online communities can remain anenymous and create fictitious personas, The

ethical concern of this anonymity is that it

1. facilitates engagement in unethical behavior,
2, promotes free expression of ideas,
3, enables the government to check the background of communities.

4 simplifies business market research,

S THE! § YRTER &3 dre ofth S§Td 8 T ¢ AR dicdd JEde & Tabd 8| 39 Tl &7
TP WERTEe T8 ____
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4, TR SR Y BT TRETH Bl o

[Question ID = 589][Question Description = 134_0_GP22_SEP22_S2_Q34]
1. 1 [Option ID = 2353]
2. 2 [Option ID = 2354]
3. 3 [Option ID = 2355]
4. 4 [Option ID = 2356]



30)
World Wide Web (WWW) was invented by whom?

1. Alan Turing

2. Steve lobs

3. Bill Gates

4, Tim Bermers-Lee

gee a15s a9 (wwiw) @1 HERIE 9 § fargH SffawsR feegr 41 7
1. @EH SR

2, g Hieq
3. faqiew
4 fEsid e

[Question ID = 590][Question Description = 135_0_GP22_SEP22_S2_Q35]
1. 1 [Option ID = 2357]
2. 2 [Option ID = 2358]
3. 3 [Option ID = 2359]
4. 4 [Option ID = 2360]

31)
Dissolved Oxygen (DO) is impoertant for

1. Drinking water

2, Raim water

3, Underground water
4, River water

faaig sifaien Fefafay & fou Teagl & -
1. 5g oiE

2, g8 og

3. I

4 Tal v

[Question ID = 591][Question Description = 136_0_GP22_SEP22_S2_Q36]
1. 1 [Option ID = 2361]
2. 2 [Option ID = 2362]
3. 3 [Option ID = 2363]
4. 4 [Option ID = 2364]

32)
The only energy source which is not in anyway related to Surn is

1. Hydro

2, Tidal

3, Wind

4, Geothermal
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1. 959
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[Question ID = 592][Question Description = 137_0_GP22_SEP22_S2_Q37]
1. 1 [Option ID = 2365]
2. 2 [Option ID = 2366]
3. 3 [Option ID = 2367]
4. 4 [Option ID = 2368]

33)
Solar ponds

A, preduce potable water

B. are thermal energy collectors

C. use salt gradient to inhibit heat loss:

D. are used for swimming in cold regions

E. produce heated water

Choose the correct answer fram the options given below;

1.4, Band Conly
2.8, Cand Eonly
3.4, B, Cand Donly
4.8, C,DandE only
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2, FaB, CHRE
3, HAAA, 8 CHARD
4, ®aAE, C,DIRE

[Question ID = 593][Question Description = 138_0_GP22_SEP22_S2_Q38]
1. 1 [Option ID = 2369]
2. 2 [Option ID = 2370]
3. 3 [Option ID = 2371]
4. 4 [Option ID = 2372]



34)
Which of the following are Green House Gases?

A. Carbon dicxide

B. Nitrogen dioxide

C. Methane

D. Chiorofluorocarbons

E, Benzene

Choose the correct answer from the options given below;

1.4, Band Conly
2.A B Cand Donly
3.A Cand Donly
4,.C,Dand Eonly

faffed g9 e H g eea e g 7
A, BIe 315 SHiFBEs

B, FIEEIoH BI5 HlaEs

C. Higq

D. TIRIGEAR] BIE-4

£ g

14 fau 70 fawedl 5 § 981 I g9 ;

1.FaAA, B AR C
2. FaTA, B CRD
3, FHEAA C3HRD
4, FaAC, DHARE

[Question ID = 594][Question Description = 139_0_GP22_SEP22_S2_Q39]
1. 1 [Option ID = 2373]
2. 2 [Option ID = 2374]
3. 3 [Option ID = 2375]
4. 4 [Option ID = 2376]

35)
Given below are two statements:

Statement I: Millennium Development Goals (MDGs) had a total of 31 targets-to be achieved by 2015.
Statement li: There are 8 goals in MDGs and 17 in SDGs,
In light of the above statements, thoose the correct answer from the options given below;

. Both Statement | and Statement |l are true
. Both Statement | and Statement || are false
. Statement | is true but Statement Il is-false

J5 WM =

. Statement | is false but Statement [l is true
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[Question ID = 595][Question Description = 140_0_GP22_SEP22_S2_Q40]
1. 1 [Option ID = 2377]
2. 2 [Option ID = 2378]
3. 3 [Option ID = 2379]
4. 4 [Option ID = 2380]

36)
Which Committee/ Commission siressing upon weomen's education stated that "women's and men’s

education should have many elements in ‘common, but should not be in general, identical in all respects,

as is usually the case today."

1. Kasturirangan Committee
2. Radhakrishnan Commission
3. Anandkrishnan Committee
4, Kothari Commission

Fafafaa & © wie e 59 o IR/ fow SERl/mEe - o8l o1 [ A AR gyl ®f far o
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[Question ID = 596][Question Description = 141_0_GP22_SEP22_S2_Q41]
1. 1 [Option ID = 2381]
2. 2 [Option ID = 2382]
3. 3 [Option ID = 2383]
4. 4 [Option ID = 2384]

37)
Which of the following is the correctfull form of NIDI?

1. National Institute of Distance Instruction
2. National Intellectual Data Initiative

3. National Inter Development Institute

4, National Initiative for Design Innovation
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1. 1 [Option ID = 2385]
2. 2 [Option ID = 2386]
3. 3 [Option ID = 2387]
4. 4 [Option ID = 2388]

38)
The Univessity Grants Commission (UGC) covers the following:

A, Universities-

B. University Teaching Departments

C, Affiliated colleges

D. Teacher Training Institutions

E. Nursing Institutions

Choose the correct answer fram the options given below;

1.4, Band Conly
2.A Dand Eonly
3.4 Band D only
4. B, Cand D only
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39)
Which of the fellowing is the name of the founder of Classical Indian School of Logic?

1. Kumaril
2. Kautilya
3. Gautam
4, Isvarkrishna
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[Question ID = 599][Question Description = 144_0_GP22_SEP22_S2_Q44]
1. 1 [Option ID = 2393]
2. 2 [Option ID = 2394]
3. 3 [Option ID = 2395]
4. 4 [Option ID = 2396]

40)
Given below are two statements:

Statement I: According to NEP-2020, all funding agencies of Research in the country will merge into a
single entity - National Research Foundation (NRF).

Statement II: The main objective of NRF is to catalyze guality research in our country.
In light of the above statements, thoose the correct answer from the options given below;

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is-false
4, Statement | is false but Statement [ is true
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1. 1 [Option ID = 2397]
2. 2 [Option ID = 2398]
3. 3 [Option ID = 2399]
4. 4 [Option ID = 2400]



Topic:- 14_GP_SH2_Set2_C

1) The mechanism of commaodification invelves platforms: transforming enline and offline objects, activities,
emotions and ideas into tradable commuodities, These commuodities are valued through four different types
of currency: attention, data, users and money, Commoadification is intensified by mechanisms of datafication
as the massive amount of user data is collected and processed by online platforms:

This provides insight into users’ interests, preferences and need at particular moments in time. It also ties
into mechanisms of selection as-these usets are connected with personalized services and advertisements.
Commadification includes, but does not equal, business models of singular platforms. Rather, the
mechanism plays out in the multi-sided markets created through the platform ecosystem, which connects
the infrastructural core with sectoral platforms.

Commodification mechanisms are simultaneously empewering and disempowering to users. The connector
platforms allew individual users to market their personal assets or experiences online- be it it their
apartments, ride, eyewitness report or video. They help commaodity users’ activity, enabling users to become
entrepreneurs in their ewn right. On the ether hand, the same platform mechanisms of commodification
involve the exploitation of cultural labour, labour of users and on-demand servics workers. Furthermore,
these mechanisms lead to a concentration of econemic power in the hands of a few platform owners and

operators who act as aggregators and gatekeeping mediators.

When ideas and emotions are converted into tradable commodities, it is a form of

1. Transformational trade.
2. User preference.

3. Commodification.

4. Currency manipulation.
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1. 1 [Option ID = 2401]
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2) The mechanism of commod|fication invelves platforms transforming enline and offline objects, activities,
emotions and ideas into tradable commeodities, These commuodities are valued through four different types
of currency: attention, data, users and money, Commoadification is intensified by mechanisms of datafication
as the massive amount of user data is collected and processed by online platforms:

This provides insight into users’ interests, preferences and need at particular moments in time. It also ties
into mechanisms of selection as-these usets are connected with persenalized services'and advertisements.
Commuodification includes, but does net equal, business models of singular platforms. Rather, the
mechanism plays out in the multi-sided markets created through the platform ecosystem, which connects
the infrastructural core with sectoral platforms.

Commodification mechanisms are simultaneously empowering and disesmpowering to users. The connector
pletforms allew individual users to market their personal assets or experiences online- be it it their
apartments, ride, eyewitness report or video. They help commadity users’ activity, enabling users to become
entrepreneurs in their ewn right. On the ether hand, the same platform mechanisms of commodification
involve the exploitation of cultural labour, labour of users and on-demand service workers. Furthermore,
these mechanisms lead to a concentration of economic power in the hands of a few platform owners and
operators who act as aggregators-and gatekeeping mediators.

When massive amounts of user data are processed by online platforms, it is known as

1. Personalisad service
2. Selection mechanism
3. Data ecosystem

4, Datafication
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3) The mechanism of commodification invelves platforms transforming enline and offline objects, activities,
emotions and ideas into tradable commeodities, These commuodities are valued through four different types
of currency: attention, data, users and money, Commoadification is intensified by mechanisms of datafication
as the massive amount of user data is collected and processed by online platforms:

This provides insight into users’ interests, preferences and need at particular moments in time. It also ties
into mechanisms of selection as-these usets are connected with persenalized services'and advertisements.
Commuodification includes, but does net equal, business models of singular platforms. Rather, the
mechanism plays out in the multi-sided markets created through the platform ecosystem, which connects
the infrastructural core with sectoral platforms.

Commodification mechanisms are simultaneously empowering and disesmpowering to users. The connector
pletforms allew individual users to market their personal assets or experiences online- be it it their
apartments, ride, eyewitness report or video. They help commadity users’ activity, enabling users to become
entrepreneurs in their ewn right. On the ether hand, the same platform mechanisms of commodification
involve the exploitation of cultural labour, labour of users and on-demand service workers. Furthermore,
these mechanisms lead to a concentration of economic power in the hands of a few platform owners and
operators who act as aggregators-and gatekeeping mediators.

Commodification mechanism has its place in

1, Traditional business models
2. Multisided markets

3. Online supportsystems

4. Single commodity markets
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4) The mechanism of commaodification invelves platforms transforming enline and offline objects, activities,
emotions and ideas into tradable commeodities, These commuodities are valued through four different types
of currency: attention, data, users and money, Commoadification is intensified by mechanisms of datafication
as the massive amount of user data is collected and processed by online platforms:

This provides insight into users’ interests, preferences and need at particular moments in time. It also ties
into mechanisms of selection as-these usets are connected with persenalized services'and advertisements.
Commuodification includes, but does net equal, business models of singular platforms. Rather, the
mechanism plays out in the multi-sided markets created through the platform ecosystem, which connects
the infrastructural core with sectoral platforms.

Commodification mechanisms are simultaneously empowering and disesmpowering to users. The connector
pletforms allew individual users to market their personal assets or experiences online- be it it their
apartments, ride, eyewitness report or video. They help commadity users’ activity, enabling users to become
entrepreneurs in their ewn right. On the ether hand, the same platform mechanisms of commodification
involve the exploitation of cultural labour, labour of users and on-demand service workers. Furthermore,
these mechanisms lead to a concentration of economic power in the hands of a few platform owners and
operators who act as aggregators-and gatekeeping mediators.

Commaodification mechanisms are

1. All powerful

2. Data producers

3. Legacy institutions

4. Paradoxical instruments to users:
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5) The mechanism of commuodification involves platformstransfénﬁing online and offline objects, activities,
emotions and ideas into tradable commedities. These commadities are valued through four different types
of currency: attention, data, users and money, Commoadification is intensified by mechanisms of datafication
as the massive amount of user data is collected and processed by online platforms:

This provides insight into users’ interests, preferences and need at particular moments in time. It also ties
into mechanisms of selection as-these usets are connected with persenalized services'and advertisements.
Commodification includes, but does not equal, business models of singular platforms. Rather, the
mechanism plays out in the multi-sided markets created through the platform ecosystem, which connects
the infrastructural core with sectoral platforms.

Commodification mechanisms are simultaneously empowering and disempowering to users. The connector
pletforms allew individual users to market their personal assets or experiences online- be it it their
apartments, ride, eyewitness report or video. They help commadity users’ activity, enabling users to become
entrepreneurs in their own right. On the other hand, the same platform mechanisms of commuodification
involve the exploitation of cultural labour, labour of users and on-demand service workers. Furthermore,
these mechanisms lead to a concentration of economic power in the hands of a few platform owners and
operators who act as aggregators-and gatekeeping mediators.

The passage presents the different facets of

1. Online empowerment

2. Online business models

3. Sectoral platferms

4. Cammadification ef intangible assets

QU] @) fpdiary § UH Hd 2iHE 8 9 A9 T AR Hhagd aegs, Tataied], Mg AR EERt @
SR 417 Gug] & SUiaiG Bd & | 39 900] & 9% (99 UeR &1 g 9 954 el oidl ¢ : @, STe, e
X 9| GUGHIY SIel-H30 @) paIaid § SH14d ol 9l & Fifh H-eis- J4l g1 4R 3131 J whigar sl
T3 AR GgIEd o1 wIar ¢ 98 999 09N W uaiaara @ efadl, adgars R sasaaarsi § side® uae
Xl 51 T8 99 B fwarary F off Siuer g @i 3 vl uidiieea dars ok faweEl ¥ 93 gu Bl
U # Ude Hl & AR Alsd WA & di 08 36 9491 T8l ¢l 9@ S8 Ug feandig 5419
qia & 719 H giord aguaTy aTaR | 98 sl & @ HYRYT ST9-] & BR & 4415 Hdl & 91 Fsd gl
qunERY [Hanald waiaa @ TF 9 G9aa < 3RET &7 6] o dv® 59 Afeaa waaaisl &l 3
ufdae A&l el syal @1 e - 916 98 9] SUICHe 8, 95 &, JfiEl-ad) Rule 8l ea
fafea-faguH &3 @i 3 a od 81 4 Biadl NiaiaieEl ol Uvg §4 § 9eigdl oRd § ored udiga @y o
SIHI 99 9| G R, U0OeRT @) 35| 4u1g feanaiadl § giblae 35, WiEdael $ 549 R 50 g4
HT o7 g ey g SR e o fraafa! § onfiies bm 9o H il 3R waee & el § Sisa el
Sl & o Sdemdl A GO SRl & $U 1 & B gl

g Ty e § € fows Ty ®oe Ted akdl 8 ?

1. TR GEaaH

2. 3H{FTTET EUR-HISd

3. &g Ha

4, 375 STl & Jugay]

[Question ID = 605][Question Description = 150_0_GP22_SEP22_S2_Q50]
1. 1 [Option ID = 2417]
2. 2 [Option ID = 2418]
3. 3 [Option ID = 2419]
4. 4 [Option ID = 2420]









